Notice for appointment of Regular / Rural Retail Outlet Dealerships

Bharat Petroleum Corporation Limited (BPCL) proposes to appoint Retail Outlet dealers in Bihar State, as per the following details:

SI. No	Name of location	Reven ue Distric t	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimui (in M.)// (in Sq. N	Area of		Finance arranged the appl	d by	Mod e of Selec tion	Fixed Fee / Minimu m Bid amount (Rs. In Lakhs)	Securi ty Depos it (Rs. In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regu lar / Rural	MS+HSD in Kls	SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Fronta ge	De pth	Area	Estima ted worki ng capital requir ement for operat ion of RO	Estim ated fund requi red for devel opm ent of infras truct ure at RO	Draw of Lots / Biddi ng		
1	in Village Athari between Runni Saidpur Chowk and Belsand Chowk	SITAM ARHI	RUR AL	71	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2	Within 4km from Ramraj Mode towards Andar on Siwan- Andar road	SIWA N	RUR AL	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

3	Within 4 KM Singhgh orwa chowk towards Kushmar i on Kuashma ri Basanpa tti Road	SITAM ARHI	RUR AL	83	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
4	Within 3km of Saryara mpur, on Derauli- Guthni Road	SIWA N	RUR AL	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
5	Within 3 km from Siwan on Siwan- Barahan- Lakridar gah road	SIWA N	RUR AL	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
6	CHUNNI VILLAGE BLOCK MADHEP UR FROM MADHEP UR TO BASSOP ATTI ROAD	MADH UBANI	RUR AL	87	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
7	WITHIN 2 KMS FROM MAHAD EO CHOWK TOWAR DS SAKHI CHOWK LOWKHI BLOCK	MADH UBANI	RUR AL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
8	WITHIN 2 KM FROM KURSO DURGA ASTHAN ON MADHEP	DARB HANG A	RUR AL	64	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

								1	1	1			1	
	URA													
	ROAD													
	\A/!+ -! 2	DADD	DUD	110		CEC	25	25	4225			D	0	2
9	Within 2	DARB	RUR	110	SC	CFS	35	35	1225	0	0	Draw	0	2
	KM from	HANG	AL									of		
	Kanauni	Α										Lots		
	Chowk													
	towards													
- 10	Bauram	0115117		= 0		0=0			100-			_		
10	Village	SHEIK	RUR	50	SC	CFS	35	35	1225	0	0	Draw	0	2
	Lodipur,	HPUR	AL									of		
	Block	Α										Lots		
	Sheikhp													
	ura													
11	Village	SHEIK	RUR	50	SC	CFS	35	35	1225	0	0	Draw	0	2
	Abgil,	HPUR	AL									of		
	Block -	Α										Lots		
	Sheikhp													
	ura													
12	Village	SHEIK	RUR	50	SC	CFS	35	35	1225	0	0	Draw	0	2
	Kosra,	HPUR	AL									of		
	Block	Α										Lots		
	Sheikhp													
	ura													
13	Village	LAKHI	RUR	65	SC	CFS	35	35	1225	0	0	Draw	0	2
	Ramcha	SARAI	AL									of		
	ndarpur,											Lots		
	Block													
	Pipariya													
14	Between	SAMA	RUR	70	SC	CFS	35	35	1225	0	0	Draw	0	2
	Chandan	STIPU	AL	-								of		
	Chowk	R										Lots		
	to Kusho													
	Chowk													
15	Within 3	SAMA	RUR	75	SC	CFS	35	35	1225	0	0	Draw	0	2
13	Km from	STIPU	AL	,,,	30	0,3	33		1223			of		
	Magarda	R	/ \L									Lots		
	hi ghat	١,												
	towards													
	Ilmasnag													
	ar , Block													
	Warisna													
	gar													
16	Between	KAIM	RUR	100	ST	CFS	35	35	1225	0	0	Draw	0	2
10	Kudra	UR	AL	100	31	Crs	33	33	1223	J	U	of	U	
		UK	AL											
	and											Lots		
	Rampur													
	on													
	Kudra-													
	Rampur Road													
	RO34	i	1			i		i	Ì	Ì	1	Ì	I	ı

		ı			T				,					
17	VILLAGE PHESAR BLOCK AURANG ABAD	AURA NGAB AD	RUR AL	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
18	In between Makdum pur to Paibigha on Makdum pur- Paibigha Road	GAYA	RUR AL	101	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
19	Village Telwa Bazar, Block Jhajha	JAMUI	RUR AL	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
20	Pasraha not on NH/SH	KHAG ARIA	RUR AL	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
21	within 3km from Dandasp ur more towards mahrajg anj on Sikatiya- Paigamb arpur road,blo ck Jantabaz ar	SARA N	RUR AL	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
22	Within 3kms from Banjari More towards sasamus a on LHS on NH 28, new NH 27	GOPA LGANJ	REG ULAR	360	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
23	From Gopalga nj town to Barauli ON NH 28, NEW NH 27 within	GOPA LGANJ	REG ULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	3km from													
	Arar													
	more													
24	FROM	SIWA	REG	160	SC	CFS	35	45	1575	0	0	Draw	0	3
	GANDAK	N	ULAR									of		
	BRIDGE											Lots		
	TO BHINIK													
	TOLA ON													
	NH -													
	19(new													
	NH 31)	_	_		_		_	_		_	_		_	_
25	Within 3 km from	SIWA	REG	180	ST	CFS	35	35	1225	0	0	Draw of	0	3
	Tarwara	N	ULAR									Lots		
	Chowk,t											2013		
	arwara													
	towards													
	Siwan on SH-73													
26	WITHIN	PATN	REG	165	SC	CFS	35	35	1225	0	0	Draw	0	3
20	2 KM	A	ULAR	103	30	0.3	33		1223			of		3
	FROM											Lots		
	BELDARI													
	CHAK TOWAR													
	DS													
	DANIYA													
	WAN ON													
	SH 78													
27	ON LHS WITHIN	SIWA	REG	150	SC	CFS	35	45	1575	0	0	Draw	0	3
27	4 KM OF	N N	ULAR	130	30	CF3	33	43	13/3		0	of	0	3
	MALMAL											Lots		
	IYA													
	TOWAR													
	DS MOHAM													
	MEDPUR													
	ON NH													
	101(NE													
20	W 331)	N 41 17 A	DEC	150		CEC	25	25	1225	0		Durre	0	_
28	WITHIN 4KM	MUZA FFARP	REG ULAR	150	SC	CFS	35	35	1225	0	0	Draw of	0	3
	FROM	UR	OLAN									Lots		
	PAROO													
	TOWAR													
	DS													
	SAHEBG ANJ ON													
	SH 74													
		<u> </u>	l .			1	İ	<u> </u>	l	l	l	L	<u> </u>	

29	WITHIN 3 KM FROM SARAIYA TOWAR DS MOTIPU R ON SH 86	MUZA FFARP UR	REG ULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
30	WITHIN 4KM FROM MOTIPU R TOWAR DS BERUA ON SH 86	MUZA FFARP UR	REG ULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
31	Within 5km from Zero Mile towards Sitamarh i on NH- 22(Old NH 77)	MUZA FFARP UR	REG ULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
32	On new Maker bypass on NH- 722(new)/NH- 102(old)	SARA N	REG ULAR	170	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
33	Within 4km from Muffasil thana ,Siwan towards Gopalga nj on NH- 531(New)/NH- 85(Old)	SIWA N	REG ULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
34	Between Chaksika ndar & Jandaha on NH- 322(Old NH 103)	VAISH ALI	REG ULAR	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

35	WITHIN 5KM OF KOCHAS ON LHS TOWAR DS DINARA ON NH- 30	ROHT AS	REG ULAR	185	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
36	Within 3 KM of Dinara towards Patna on NH3O	ROHT AS	REG ULAR	185	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
37	WITHIN 4KM OF INDRAP URI POLICE STATION TOWAR DS DEHRI ON NH- 2C	ROHT AS	REG ULAR	205	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
38	Within 1 Km on either side of Saksohra Bus stand towards Barh on NH 30A	PATN A	REG ULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
39	Between Km Stone 181 to 185 on NH 31 Bakhtiya rpur to Mokama Highway	PATN A	REG ULAR	210	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
40	WITHIN LOHIA NAGAR ON MAIN OR ARTERIA L ROAD IN PATNA MUNICIP AL	PATN A	REG ULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

	LIMITS													
41	Within Mohania municip al limit on main or arterial Road	KAIM UR	REG ULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	ω
42	MADHEP URA (Within Municip al Limit), on any major arterial road	MADH EPURA	REG ULAR	126	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
43	FROM BARAULI TOWAR DS SIWAN ON LHS BETWEE N MILESTO NE 31 TO 35 ON SH 47	GOPA LGANJ	REG ULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
44	within 4 km from bisanpur police station towards lehariasa rai on SH 50	DARB HANG A	REG ULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
45	Biraul Chowk (Within 2km from Biraul chowk on either side on SH-56)	DARB HANG A	REG ULAR	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

46	Between Km stone no.908 and 912 on LHS while going from Delhi towards Kolkata on NH2	ROHT AS	REG ULAR	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
47	Within 3 KM from Dharam parsa on Barhariy a - Siwan road on SH 47	GOPA LGANJ	REG ULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
48	WITHIN 3 KM FROM SINGHIA GHAT TOWAR DS DALSING HSARAI ON SH 88 ON LHS	SAMA STIPU R	REG ULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
49	2km from Noorsar ai towards Chandi on SH-78	NALA NDA	REG ULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
50	Between Araria to Kariyat on NH- 57 LHS	ARARI A	REG ULAR	154	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
51	Between Kamakhy a Mandir Dasaut Chowk & Dekuli Chowk PHC on SH-88	SAMA STIPU R	REG ULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

52	IN BETWEE N RAJKIYA VIDYALA YA AND NAVIN PRIMAR Y SCHOOL ON SH 74 TOWAR DS SAHIBGA NJ ON LHS	CHAM PARA N - EAST	REG ULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
53	MISHRA ULIA BETWEE N DHAKAÂ CHIRIYA - MOTIHA RI ROAD ON SH 54	CHAM PARA N - EAST	REG ULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
54	FROM JAMHAR IA URDU MIDDLE SCHOOL TO AARAH HIGH SCHOOL MORE ON SH 8	NAWA DA	REG ULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
55	WITHIN 5KMS FROM PAKRIW ARMA POLICE STATION TOWAR DS SIKANDR A ON SH 8	NAWA DA	REG ULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
56	SIMRI BY PASS MORE TO VIVEKAN ABD PUBLIC	NAWA DA	REG ULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

	6611001	l				1		1			l	l	1	
	SCHOOL ON SH													
	83 LHS													
	65 LH3													
57	Within 2	BEGUS	REG	130	SC	CFS	35	35	1225	0	0	Draw	0	3
	KM of	ARAI	ULAR									of		
	Khodaba											Lots		
	ndpur													
	police													
	station													
	on SH 55													
58	From	GAYA	REG	160	SC	CFS	35	35	1225	0	0	Draw	0	3
	Atari		ULAR									of		
	More											Lots		
	towards													
	Jamharia													
	Urdu Middle													
	School													
	on SH8													
59	within 5	ВНОЈР	REG	275	SC	CFS	35	45	1575	0	0	Draw	0	3
	km from	UR	ULAR	273	30	Cis	33	73	1373	O		of	· ·	5
	intersect	Oit	OLIVII									Lots		
	ion of											2013		
	SH81													
	and													
	NH30													
	onNH30													
	toward													
	Arrah													
60	On all	VAISH	REG	300	SC	CFS	20	20	400	0	0	Draw	0	3
	arterial	ALI	ULAR									of		
	roads of											Lots		
	Lalganj													
	(Within municip													
	al Limit													
	of													
	Lalganj)													
61	Within	CHAM	REG	110	SC	CFS	35	35	1225	0	0	Draw	0	3
	3KMs	PARA	ULAR	-			_		_			of		
	from	N -										Lots		
	Maharan	WEST												
	i Janki													
	Kunwar													
	College													
	BETTIAH													
	on either													
	side on													
62	SH 54 Between	JAMUI	REG	250	SC	CFS	35	45	1575	0	0	Draw	0	3
02	Sono &	JAWU	ULAR	230	3C	CFS	55	45	13/3	U	0	Draw of	U	3
	Chakai		OLAN									Lots		
	on NH-													
	333 LHS													
		l				1		1			·	·	l	

		ı				1			1	1				
63	Within 5 kms from Parsathu a Chowk on NH- 30 towards Mohania	KAIM UR	REG ULAR	165	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
64	WITHIN 4KM FROM SARAIYA TOWAR DS PAROO ON SH- 74	MUZA FFARP UR	REG ULAR	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
65	Between Ghataro and Chandral ay on SH-74 on either side	VAISH ALI	REG ULAR	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
66	Between Rajaura and Koria on SH 55	BEGUS ARAI	REG ULAR	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
67	Within 4 KM of Cheria Bariarpu r Police station towards Khodaba ndpur on SH 55	BEGUS ARAI	REG ULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
68	Between Rampur & Alinagar on NH- 80(New NH 33)	LAKHI SARAI	REG ULAR	165	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
69	Between Chainpur Block Office and Chand block office ON NH 219	KAIM UR	REG ULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

70	Within 2 KM FROM CHIRAIY A THANA TOWAR DS MOTIHA RI ON RHS ON SH 54	CHAM PARA N - EAST	REG ULAR	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
71	Within Rajiv Nagar on main or arterial Road	PATN A	REG ULAR	270	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
72	WITHIN 4 KM ON EITHER SIDE OF LALA CHAPRA CHOWK ON CHAKIA KESARIA ROAD ON SH 74	CHAM PARA N - EAST	REG ULAR	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
73	Within 15 kms from intersect ion of Kudra- Parsauth a Road and NH2 on NH-2 on RHS towards Kolkata	KAIM UR	REG ULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
74	Between KM stone 572 and KM stone 560 on EITHER SIDE on NH 28(New NH 122)	SAMA STIPU R	REG ULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

75	Between KM Stone 572 & KM Stone 584 on EITHER SIDE on NH 28(New NH 122)	SAMA STIPU R	REG ULAR	190	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
76	between karwa more to jaiprabh a nagar on NH- 107	KHAG ARIA	REG ULAR	250	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
77	within 6 km from Dilahi Chowk on lehariasa rai samastip ur road (SH 50)	DARB HANG A	REG ULAR	180	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
78	BETWEE N MILESTO NE 872 TO 876 ON NH - 2	KAIM UR	REG ULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
79	Between Barauni Zero Mile & Harhar Mahade v Chowk on LHS on NH 31	BEGUS ARAI	REG ULAR	210	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
80	Between Lakhmini a Railway Station & Sahebpu r Kamal on NH 31 on RHS	BEGUS ARAI	REG ULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

81	Between KM stone 603 and 595, on either side on NH 28(New NH 122)	BEGUS ARAI	REG ULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
82	Within 1 KM on either side of Bodhgay a Café Coffe Day	GAYA	REG ULAR	220	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
83	Within 2 km of bhitti kuttiya temple on NH 2 towards Delhi	KAIM UR	REG ULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
84	Purnea zero mile to Kasba on NH 57 RHS towards darbhan ga	PURNI A	REG ULAR	250	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
85	Dalsingh sarai Town (Within Municip al Limit), on any major arterial road	SAMA STIPU R	REG ULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
86	Within 5km from fulwaria chowk towards kolasi on rural road not on NH/SH	KATIH AR	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

87	Village- Athvania not on NH/SH	BANK A	RUR AL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
88	WITHIN 3 KMS FROM BAKAUR A BAZAR TOWAR DS NUNUPA TTI ON RHS	SUPA UL	RUR AL	145	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
89	IN BETWEE N KM STONE 8 TO 11 ON LHS ON MDR ROAD FROM LAHARNI A TO PRATAP GANJ	SUPA UL	RUR AL	87	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
90	CHUNNI VILLAGE BLOCK CHATTA PUR NOT ON NH/SH	SUPA UL	RUR AL	145	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
91	WITHIN 2 KM FROM CHANAN GHAT MORE ON RHS WHILE GOING TOWAR DS KOPARIA ON EAST KOSHI BANDH ROAD	SAHAR SA	RUR AL	93	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
92	village Katoria not on NH/SH	BANK A	RUR AL	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

93	WITHIN 2 KM OF MAHULI THANA ON EITHER SIDE OF SHEIKHP URA- ARHA PWD ROAD	SHEIK HPUR A	RUR AL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
94	WITHIN 2 KM FROM SOHMA	SAMA STIPU R	RUR AL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
95	Between Pharpar & Gohda on Arha- Hussaina bad- Sheikhp ura Road	SHEIK HPUR A	RUR AL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
96	Within 4 km from Nista More towards Kajra Railway Crossing Station	LAKHI SARAI	RUR AL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
97	Village Kasba, Block Surajgar ha	LAKHI SARAI	RUR AL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
98	Village Losghani , Block Surajgar ha	LAKHI SARAI	RUR AL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
99	Within 2 KM of Lakhisar ai Byepass towards Sheikhp ura on Lakhisar ai- Bhadaus - Sheikhp ura Road	LAKHI SARAI	RUR AL	50	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4

100	Between Kajra &	LAKHI SARAI	RUR AL	70	OPEN	DC	35	35	1225	12	30	Draw of	5	4
	Ghogi Bariarpu r Railway Station											Lots		
	on Jamalpur -													
	Dharhar a-Kajra Road													
101	Village Tetarhat , Block - Ramgarh , on Tetarhat Maliya	LAKHI SARAI	RUR AL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
102	Road Within 3	LAKHI	RUR	80	OBC	DC	35	35	1225	12	30	Draw	5	3
	KM from Kajra towards Nista on Kajra - Surajgar	SARAI	AL									of Lots		
103	ha Road Within 5 KM from	SAMA STIPU	RUR AL	70	OPEN	DC	35	35	1225	12	30	Draw of	5	4
	Ballipur Gal Gal Chowk towards Hathouri Kothi, Block - Khanpur	R	AL									Lots		
104	WITHIN 2 KMS OF Basahi Ghat towards Teghra,	BEGUS ARAI	RUR AL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
	Block Bhagwa npur													
105	Village Bhadaus, Block - Ghat Kusumb ha, on Sheikhp ura- Bhadaus	SHEIK HPUR A	RUR AL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
105	Bhadaus, Block - Ghat Kusumb ha, on Sheikhp ura-	HPUR		50	SC	CFS	35	35	1225	U	U	of		Û

	Labeta an	1												1
	Lakhisar													
	ai road													
												_	_	
106	WITHIN	MADH	RUR	35	OBC	DC	35	35	1225	12	30	Draw	5	3
	3 KM	EPURA	AL									of		
	FROM											Lots		
	BELARI													
	CHOWK													
	ON LHS													
	TOWAR													
	DS													
	MADHEP													
	URA													
107	Within 4	BEGUS	RUR	70	OPEN	DC	35	35	1225	12	30	Draw	5	4
	Kms	ARAI	AL									of		
	from											Lots		
	Tiyai OP											2013		
	Thana													
	towards													
	Basahi													
	Ghat													
	Bhagwa													
	npur,													
	Block													
	Bhagwa													
	npur													
108	Within 2	JAMUI	RUR	90	OPEN CC	DC	35	35	1225	12	30	Draw	5	4
108		JAIVIOI		90	2	DC	33	33	1223	12	30	of	3	4
	Kms of		AL		2									
	10+2											Lots		
	School,													
	Jinhara													
	on													
	Koharba													
	-Jhajha													
	road,													
	Lakshmi													
	pur													
	Block											_		
109	Within 5	MADH	RUR	35	OBC CC 1	DC	35	35	1225	12	30	Draw	5	3
	Kms	EPURA	AL									of		
	from											Lots		
	Shankar													
	pur													
	Chowk													
	on													
	Shankar													
	pur													
	Kumarkh													
	and													
	Main													
	Road													
					l	l .	l .	l .						

110	Between Giddhau r Stadium & Giddhau r Railway Station	JAMUI	RUR AL	90	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
111	Village Bhagwa npur	BEGUS ARAI	RUR AL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
112	IN BETWEE N CHAURA HI BAZAAR TO SUNDAR VAN CHOWK, CHAURA HI BLOCK	BEGUS ARAI	RUR AL	85	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
113	WITHIN 3 KM FROM DANDAR I TOWAR DS BALIA LAKHMI NIA CHOWK	BEGUS ARAI	RUR AL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
114	Chautha m Village, Block: Chautha m, not on NH/SH	KHAG ARIA	RUR AL	115	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
115	Within 5KM of Durgawa ti senior secondar y school Bichhiya on Durgwati - Ramgarh Road towards Ramgarh	KAIM UR	RUR AL	102	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

		1			1		1							
116	WITHIN 2KM FROM BELARI TOWAR DS MADHEP URA	MADH EPURA	RUR AL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
117	Between Banka and Dhakam ore not on NH/SH	BANK A	RUR AL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
118	WITHIN 3 KM FROM PARLIYA HAAT CHOWK TOWAR DS KADWA BLOCK ON LHS	KATIH AR	RUR AL	105	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
119	Dhoraiya Village, Block: Dhoraiya , not on NH/SH	BANK A	RUR AL	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
120	Between Laxmipu r & Jhajha on Laxmipu r- Jinhara- Jhajha Road	JAMUI	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
121	Between Ugani Chowk & Amrath on Manjha we- Ugani Chowk Road	JAMUI	RUR AL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

122	Within 2 KM from Khaira towards choudih a on Khaira Chodiha Road	JAMUI	RUR AL	90	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
123	Dharhar a Rural not on NH/SH	MUNG ER	RUR AL	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
124	Village Bhounr, Block Khaira on Garhi- Jamui Link road	JAMUI	RUR AL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
125	WITHIN 3KM FROM ISRAIN GOTH MIDDLE SCHOOL ON RHS WHILE GOING TOWAR DS CHAKMA KA	MADH EPURA	RUR AL	35	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
126	Chatar village, near FCI Godown on Khagaria Alaoli PWD road	KHAG ARIA	RUR AL	84	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
127	Moharm ari to Bahadur ganj on Kishenga nj- Bahadur ganj Road	KISHA NGAN J	RUR AL	170	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
128	Asarganj not on NH/SH	MUNG ER	RUR AL	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

129	Village Jinedpur , Block- Begusar ai	BEGUS ARAI	RUR AL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
130	WITHIN CHANDI PANCHA YAT ON RANIPAT RA - MAJHELI ROAD	PURNI A	RUR AL	115	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
131	Within 5 km from Khagaria to Bakhri on Bakhri Khagaria Road	KHAG ARIA	RUR AL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
132	WITHIN 3 KM FROM ZILEBIA More (Block: Dandkho ra) towards Katihar on either side	KATIH AR	RUR AL	77	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
133	Balipur Parsura m, Block Shivajina gar	SAMA STIPU R	RUR AL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
134	Village Simri Babujan ghat, Block Simri Bakhtiya rpur	SAHAR SA	RUR AL	91	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
135	WITHIN 3 KM FROM AURAHI VILLAGE ON BARHAR A BAZAAR TO BANMA NKI	PURNI A	RUR AL	100	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3

	ROAD ON RHS TOWAR DS BANMA NKHI													
136	village Chandan not on NH/SH	BANK A	RUR AL	115	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
137	Within 3 km from kharagp ur chowk towards Tarapur on tarapur- Kharagp ur Road not on NH/SH	MUNG ER	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
138	Maheshk hunt not on NH/SH	KHAG ARIA	RUR AL	115	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
139	Within 3 KM from Shahkun d on Shahkun d Asargunj Road not on NH/SH	BHAG ALPUR	RUR AL	115	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
140	BETWEE N DARA VILLAGE AND LOHA PUL ON SRINAGA R PURNIA ROAD	PURNI A	RUR AL	110	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
141	Ghogha Village, Block: Kahalgao n, not on	BHAG ALPUR	RUR AL	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

	NH/SH													
	·													
142	Basantp ur on Mirzan- Gorandi Road not on NH/SH	BHAG ALPUR	RUR AL	115	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
143	Rajaun Village, Block: Rajaun, not on NH/SH	BANK A	RUR AL	115	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
144	Within 3 Km from Madhya Bihar Gramin Bank, Babura towards koilwar on Babura- Koilwar Road.	BHOJP UR	RUR AL	155	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
145	Gonawa	NALA NDA	RUR AL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
146	ON CHANDA SI BHIKHU WA ROAD, VILLAGE DARIYAP UR, PS. GAURIC HAK	PATN A	RUR AL	95	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
147	On Hilsa Reiri to Bans Bigha Road, within 10 KM of Shivajina gar Railway Crossing	NALA NDA	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

4.40	DII-	DATN	DUD	120	ODEN CC	DC	25	25	4225	42	20	D	-	4
148	Block Fatuha, on Main road and arterial roads (Not on NH or SH	PATN A	RUR AL	120	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
149	within 3 kilometr es of Dinara towards Dhansoi n on Dinara- Dhansoi n Road	ROHT AS	RUR AL	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
150	B/N GAURAIY A STHAN AND BAHPUR A ON GAURAIY A STHAN- BAHPUR A RD	PATN A	RUR AL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
151	Within 5 KM of Unwas Panchay at Bhawan towards Dhansoi n on Buxar- Unwas- Dhansoi n Road	BUXA R	RUR AL	105	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
152	Within 5 km of Phulli Village area on Kudra- Parsauth a Road	KAIM UR	RUR AL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

153	WITHIN 2 KM FROM RAJKIYA MADHY A VIDYALA YA LAKHEP UR TOWAR DS BHALUA ON RHS,MO HANPUR BLOCK	GAYA	RUR AL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
154	Within 6 KM from chakai towards Jharkhan d Border on Jamua- Chakai Road	JAMUI	RUR AL	90	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
155	WITHN 2KMS FROM MORE DIHRI TOWAR DS ANUGRA H NARAYA N RAILWA Y STATION ,BLOCK AURANG ABAD	AURA NGAB AD	RUR AL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	0	4
156	Between Basdiha- Badwa Mod and Thakurb adi Mod On Auranga bad- Phesar Road	AURA NGAB AD	RUR AL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

157	within 4 km from intersect ion of Garhani Agion Road and SH12 on Garhani Agion Road	BHOJP UR	RUR AL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
158	within 5 KM of Manoha rpur Village Temple on Buxar and Sikraul Canal Road	BUXA R	RUR AL	120	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
159	Within 3 KM on either side of village Bhori on Panchan pur Bela Road	GAYA	RUR AL	90	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
160	Between Haspura Private Bus stand and Musima bad morh on Haspura- Devkund Road	AURA NGAB AD	RUR AL	115	OPEN PH	DC	35	35	1225	12	30	Draw of Lots	5	4
161	with 5 Km on Garahat ha gaighat Road from intersect on of NH84 and Garahat ha gaighat	BUXA R	RUR AL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

	Road													
162	WITHIN 5 KM ON NEW ARRAH- CHHAPR A ROAD FROM KOILWA R TOWAR DS CHHAPR A	BHOJP UR	RUR AL	150	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
163	within 3 km of Dinara Chowk on Dinara- Baraown Road,BL OCK DINARA	ROHT AS	RUR AL	45	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
164	Within 2 kilometr es of Akelua Tarh(chir aiyatar Morh) on Haspura Mehandi a Road	AURA NGAB AD	RUR AL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
165	WITHIN 5 KMS FROM BUXAR GOLAMB AR TO JASO	BUXA R	RUR AL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
166	FROM CHERKI BAZAAR TO SHERGH ATI POLICE STATION	GAYA	RUR AL	145	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

167	VILLAGE AMAR BIGHA, 2 KM WEST FROM KARLO MARUTI AGENCY	GAYA	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
168	Makhda mpur Prakhan d on Main road or Arterial Road	JEHAN ABAD	RUR AL	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
169	Within 1km on either side of village kharjaa ma primaryS chool towards dihra on Daudnag ar to barun Rd	AURA NGAB AD	RUR AL	105	OBC	DC	35	35	1225	12	30	Draw of Lots	.0	3
170	FROM MASAUR IH TO PALIGAN J ON MASAUR HI PALIGAN J ROAD	PATN A	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
171	Village Shakura bad, Block - Ratni Faridpur	JEHAN ABAD	RUR AL	85	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
172	WITHIN MANIYA RI GRAM UNDER MANIYA RI PANCHA YAT	SITAM ARHI	RUR AL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

173	in between banarjhu la chowk and chharap atti chowk block ghoghad iya on nirmalli madhep ur Road	MADH UBANI	RUR AL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
174	WITHIN LAXMIP UR BETWEE N MARJAD WA TO GAURIP UR CHOWK	CHAM PARA N - WEST	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
175	Within 3 km from M S high school towards andar on RHS on Siwan- Andar Road	SIWA N	RUR AL	150	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
176	Within 4 km from Gulariya Ghat chowk towards Maker on Sonepur- Darihara - rewagha t road	SARA N	RUR AL	170	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
177	Within 3 KM from Khairwa High School towards Bargania on LHS on Dhaka Bargania	CHAM PARA N - EAST	RUR AL	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

	Road													
178	On RHS Between Chhakka Tola Eidgah to Jagatpur a primary school	SIWA N	RUR AL	130	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
179	Within 3 km from Daha river Bridge towards hussaing ang RHS , Block Hussaing anj	SIWA N	RUR AL	130	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
180	Within 2 km from inarwa more on haribela parihar road	SITAM ARHI	RUR AL	77	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
181	WITHIN 2KM FROM KALYAN PUR CHOWK TOWAR DS PIPRA KOTHI ON LHS	CHAM PARA N - EAST	RUR AL	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
182	WITHIN 3 KM FROM HASANP URAÂ ON SISWAN SIWAN ROAD ON EITHER SIDE	SIWA N	RUR AL	120	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

183	WITHIN 3 KM OF BANPUR A VILLAGE ON MAHRAJ GANJ EKMA ROAD ON EITHER SIDE	SIWA N	RUR AL	150	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
184	Within 3 km from Shubhat a More towards Siswan on Majhi Derauli Guthni road	SIWA N	RUR AL	110	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
185	WITHIN 4 KM FROM MARCHI YA CHOWK TOWAR DS BHAGIPA TTI ON MIRGAN J - BHAGIPA TTI ROAD ON EITHER SIDE	GOPA LGANJ	RUR AL	80	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
186	Within 3 KM of Karom on Mairwa Darauli Road in block Darauli	SIWA N	RUR AL	150	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
187	WITHIN 2 KM FROM MAUNA CHAUK TOWAR DS LALGANJ	VAISH ALI	RUR AL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

	ONLLIC													
	ON LHS													
188	within 3	SITAM	RUR	80	OPEN	DC	35	35	1225	12	30	Draw	5	4
	km from	ARHI	AL									of		
	kuari											Lots		
	chowk													
	towards													
	sonbarsa													
	on Majorga													
	Majorga nj-													
	Sonbars													
	a Road													
189	within 3	SITAM	RUR	80	OPEN	DC	35	35	1225	12	30	Draw	5	4
	km from	ARHI	AL									of		
	manha											Lots		
	mode													
	towards manchi													
	mode on													
	belsand-													
	runnisai													
	dpur													
	Road													
	Block:													
100	Belsand	0.7.1.1	55	2-		0=0			100=					
190	within	SITAM ARHI	RUR AL	85	SC	CFS	35	35	1225	0	0	Draw of	0	2
	gharwar a gram,	АКПІ	AL									Lots		
	under											LOUS		
	gharwar													
	а													
	panchay													
	at			_			_	_			_			
191	Within 2	MADH	RUR	80	OBC	DC	35	35	1225	12	30	Draw	5	3
	km from	UBANI	AL									of		
	prathami k											Lots		
	vidyalay													
	laheri													
	tola													
	towards													
	Madnes													
	hwar													
	mandir													
	village													
	madna													

192	WITHIN 2KM FROM BARAIL CHOWK TOWAR DS DONWA RI HAAT ON MADHU BANI- BABUBA RHI- KHUTON A PATH	MADH UBANI	RUR AL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
193	within 2 km from nandi bhauji chowk towards benipatti	MADH UBANI	RUR AL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
194	Within 2KM from Kanti Railway Station towards bhagwan pur in Kanti Block	MUZA FFARP UR	RUR AL	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
195	Within 2 KM on either side from BabhanG ama Chowk on Riga Dheng Road	SITAM ARHI	RUR AL	76	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
196	IN BETWEE N JAYDEOP ATTI TO MACHH AITA ON LHS ON JAIDEVP ATTI MACHH AITA ROAD	DARB HANG A	RUR AL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

197	within 2 km from Khutaun a Panchay at bhawan towards nathpatt i chowk block khutaun a	MADH UBANI	RUR AL	85	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
198	Between Belkund a and Rajapaka r on LHS towards Belkund a under Rajapaka r block	VAISH ALI	RUR AL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
199	WITHIN 2KM FROM RAMPHA L CHOUDH ARY SMARAK , ANDHRA THARI TOWAR DS DUMRA	MADH UBANI	RUR AL	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
200	WITHIN 2 KM FROM IMNAULI CHOWK TOWAR DS NAWTA N ON LHS	SIWA N	RUR AL	150	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

201	WITHIN 2 KM FROM JAFRABA AD CHOURA HA TOWAR DS MAHUA ON DESARI MAHUA LINK ROAD ON RHS	VAISH ALI	RUR AL	120	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
202	Within 4 KM from Sahargh at Chowk towards Umgaon	MADH UBANI	RUR AL	80	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
203	WITHIN 5 KM FROM GANDHI CHOWK MAHUA ON MAHUA - MUZAFF ARPUR ROAD ON EITHER SIDE	VAISH ALI	RUR AL	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
204	Within 3 KM from Tanuahi Chowk towards Bhatchor a chowk on LHS under Block Ladaniya	MADH UBANI	RUR AL	84	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
205	Within 5 km from Bhairol Chowk towards Shobhan Chowk on Ekmi Sobhan	DARB HANG A	RUR AL	120	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

	byepass													
	7,4													
206	WITHIN 2 KM FROM MAHTH AUR CHOWK TOWAR DS VIDESH WARSTH AN ON BAHEDA JANJHAR PUR ROAD	DARB HANG A	RUR AL	140	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
207	Within 2km from Simar Chowk towards Minapur on Seohar minapur Road	SHEO HAR	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
208	Within village Banjaria on LHS towards Baghauc h More	GOPA LGANJ	RUR AL	70	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
209	Within 3 KM of Nariyar Panapur on Motipur - Nariyarp ur road under Minapur Block	MUZA FFARP UR	RUR AL	120	OPEN CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
210	Within 2 km from Bahuara in patepur block	VAISH ALI	RUR AL	120	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3

211	Within 3 KM from Pilkhi Chowk towards Muzaffar pur within Block Muraul	MUZA FFARP UR	RUR AL	180	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
212	WITHIN DHANKA UL GRAM UNDER DHANKA UL PANCHA YAT	SHEO HAR	RUR AL	75	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
213	Between Dardha Hat to Moham madpur Hat in Muraul Block	MUZA FFARP UR	RUR AL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
214	Within 4km from Maithy Toll Plaza towards Samastip ur in Bakhri Village	MUZA FFARP UR	RUR AL	120	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
215	Within 4 km from Bisanpur towards atarbel on Bisanpur atarbel path	DARB HANG A	RUR AL	130	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
216	WITHIN 4 KM FROM BHAIROL CHOWK TOWAR DS EKMI ON EKMI- SHOBHA N	DARB HANG A	RUR AL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

217	BYPASS ON EITHER SIDE	SITAM	RUR	60	ST	CFS	35	35	1225	0	0	Draw	0	2
	NANDW ARA GRAM IN NANDW ARA PANCHA YAT	ARHI	AL									of Lots		
218	Between mileston e number 4 to mileston e number 6 KM from Kanti to Meenap ur on LHS	MUZA FFARP UR	RUR AL	120	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
219	FROM CHATTA UNI CHOWK TO MADHU BANI GHAT, ON MOTIHA RI - MADHU BANI GHAT ROAD,BL OCK MOTIHA RI	CHAM PARA N - EAST	RUR AL	105	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
220	within 2km from Tariyani police station towards Seohar	SHEO HAR	RUR AL	90	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

	00													
	on Minapur													
	Seohar													
	Path													
221	Between	CHAM	RUR	100	SC	CFS	35	35	1225	0	0	Draw	0	2
	Manjho 	PARA	AL									of		
	wlia station	N - WEST										Lots		
	to	WLSI												
	market													
	under													
	Block													
	Manjho wlia.													
222	WITHIN	CHAM	RUR	65	OPEN	DC	35	35	1225	12	30	Draw	5	4
	2 KMS	PARA	AL									of		
	FROM	N -										Lots		
	MALAHI BAZAAR	EAST												
	HIGH													
	SCHOOL													
	CHOWK													
	TOWAR DS													
	BALAHA													
	CHOWK													
	ON RHS												_	
223	WITHIN 3KM OF	MUZA FFARP	RUR AL	120	OPEN CC 1	DC	35	35	1225	12	30	Draw of	5	4
	RATWAR	UR	AL		1							Lots		
	Α													
	CHOWK													
	ON JAFARPU													
	R													
	SAHEBG													
	ANJ													
	BASAITH A ROAD													
224	Within 3	CHAM	RUR	80	OBC	DC	35	35	1225	12	30	Draw	5	3
	KM from	PARA	AL									of		
	Patarwa	N -										Lots		
	Chowk on RHS	WEST												
	from													
	Nawalpu													
	r towards													
	Bettiah													
	under													
	Block													
	Jogapatti Block													
	DIUCK				<u> </u>			<u> </u>						

225	Between Hathwa More to Badheya More on mirganj - Bhore Road, On Either side.	GOPA LGANJ	RUR AL	70	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
226	WITHIN 2 KM FROM BAGHAU CH MORE TO SASAMU SA ON PWD ROAD ON RHS	GOPA LGANJ	RUR AL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
227	Within 3 KM from Madhop ur bazaar towards Bhaharri ya on Madhup ur road	GOPA LGANJ	RUR AL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
228	WITHIN JHAROK HAR VILLAGE ON DHAKA- GHORAS AN- JHAROK AR ROAD, BLOCK GHORAS AN	CHAM PARA N - EAST	RUR AL	70	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
229	FROM MUZAFF ARPUR TO PUSA ROAD BETWEE N ROHUA CHOWK TO ROHUA	MUZA FFARP UR	RUR AL	150	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

	HIGH SCHOOL ON LHS													
													-	
230	Witin 3 KM on LHS from Gopalpu r police station towards Baishkh wa Chowk on Bettiah Mainata nd road	CHAM PARA N - WEST	RUR AL	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
231	BETWEE N NAREGA BHAWA N AND PAX GODOW N ON LHS WHILE GOING TOWAR DS PAX GODOW N IN MAJHAU LIA BLOCK	CHAM PARA N - WEST	RUR AL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
232	Within 3 Km from Sakri Nahar Chowk on Sakri to Gobarsa hi Chowk	MUZA FFARP UR	RUR AL	120	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

233	Within 2 km from ghosh more towards BARHARI YA on gopalgan j barhariy a road	GOPA LGANJ	RUR AL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
234	Within 3 KM from Kusaund hi Chowk towards Koila Deva on RHS in Block Hatwa	GOPA LGANJ	RUR AL	90	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
235	FROM BHASUR ARI CHOWK TOWAR DS POKHAR A VILLAGE WITHIN 2KMS ON EITHER SIDE	CHAM PARA N - WEST	RUR AL	90	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
236	Within 2KM from Pakriday al Circle Office towards Madhub an on Pakriday al- Madhub an Road	CHAM PARA N - EAST	RUR AL	85	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
237	On connecti ng road of Mansa hatta harijan tola more	SIWA N	RUR AL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

						I		1		ı	ı	I		
	and													
	siwan													
	barhariy													
	a main													
	road.													
238	between	SARA	RUR	100	OBC	DC	35	35	1225	12	30	Draw	5	3
	Madhop	N	AL									of		
	ur bridge											Lots		
	and													
	Mohabb													
	atnath													
	mathia													
	more on													
	majhi -													
	barauli													
220	road Between	MAICH	מוום	120	SC	CEC	35	25	1225	0	0	Draw	0	2
239	Chehrak	VAISH ALI	RUR AL	120	SC.	CFS	35	35	1225	U	0	Draw of	U	2
	ala and	ALI	AL									Lots		
	Kaji Inda											LOUS		
	chowk													
	on either													
	side													
240	BETWEE	SITAM	RUR	90	OPEN	DC	35	35	1225	12	30	Draw	5	4
	N	ARHI	AL									of		
	BHAIROK											Lots		
	OTHI													
	CHOWK													
	AND													
	VISHVAN ATHPUR													
	CHOWK													
	ON													
	BHAIROK													
	OTHI													
	BHEESA-													
	VISHVAN													
	ATHPUR													
	ROAD													
241	within 2	SIWA	RUR	105	OPEN	DC	35	35	1225	12	30	Draw	5	4
	km from	N	AL									of		
	Guthni											Lots		
	chowk													
	towards Derauli													
	on													
	Guthni													
	Derauli													
	road on													
	RHS(vill:										1			
1	11113(11111.													

242	within 3 km From Gairatpu r middle School towards Tajpur,	SARA N	RUR AL	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
243	block majhi. WITHIN SIROULI GRAM UNDER SIROULI PANCHA	SITAM ARHI	RUR AL	62	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
244	within 3km form Kachnar more towards Raghuna thpur on(Chap ra- darauli- guthni)o n RHS ,Block Siswan	SIWA N	RUR AL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
245	Witin 2 km from C S Singh R P Singh Degree College on mairwa Kuchaiko t Road,Blo ck Nautan	SIWA N	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
246	within 4km From kasila more towards patar on LHS, block Darauli	SIWA N	RUR AL	90	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

247	VILLAGE KAMAL PIPRA ON ROAD CONNEC TING GAHIRI & KAMAL PIPRA, BLOCK PAHARP UR	CHAM PARA N - EAST	RUR AL	80	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
248	within 4 km from rasulpur chowk towards chainpur on RHS on rasulpur chainpur road,blo ck ekma	SARA N	RUR AL	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
249	WITHIN 2 KM FROM SHIV MANDIR CHHITRA VALIA BAZAR TOWAR DS NAGRA ON EKMA NAGRA ROAD ON EITHER SIDE	SARA N	RUR AL	110	OPEN CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
250	Forbesga nj to Araria on NH- 57(RHS) near Gogipot hia, PS. Simraha, Circle Forbesga nj	ARARI A	REG ULAR	154	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

251	BEGUSA RAI Town (Within Municip al Limit), on any major arterial road	BEGUS ARAI	REG ULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
252	Between Bhimpur to Forbesga nj on NH-57 RHS	ARARI A	REG ULAR	154	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
253	Between Bhimpur to Forbesga nj on NH-57 LHS	ARARI A	REG ULAR	154	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
254	Bairgachi Chowk to jokihat on NH 327E	ARARI A	REG ULAR	186	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
255	KHIDDI, RAJOUN BANKA - WITHIN 1.3 KMS FROM RAJAWA R MORE TO KHAIRA MORE ON RHS ON SH	BANK A	REG ULAR	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
256	Raniganj to Araria on NH 327E	ARARI A	REG ULAR	174	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

257	WITHIN 5 KM FROM JAGDISH PUR TOWAR DS RAJAUN ON BHAGAL PUR DUMKA ROAD ON RHS ON SH 19	BANK A	REG ULAR	128	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
258	between kakwara and kathaun on Banka Katoria Road on NH 333a	BANK A	REG ULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
259	Within 3 KM from Murlitol toll plaza towards Bazidpur on SH 93	BEGUS ARAI	REG ULAR	125	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
260	WITHIN 2 KM FROM TURKI MORE TOWAR DS KATORIA BAZAR ON LHS ON SH 22	BANK A	REG ULAR	115	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
261	Baptiyah i to Rambish anpur on NH 57 RHS towards darbhan ga	SUPA UL	REG ULAR	154	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

262	Between Lakhmini a Railway Station and Sahebpu r Kamal Railway Station on NH 31 on LHS	BEGUS ARAI	REG ULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
263	Manjhau I, Within 3 KM of RCS College towards Cheria Bariyarp ur on SH 55	BEGUS ARAI	REG ULAR	125	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
264	Within 2 KM from Panhas chowk/V ir Kunwar Singh Chowk towords rajura chowk on SH-55	BEGUS ARAI	REG ULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
265	Between Bihra to Supaul on NH- 327E	SUPA UL	REG ULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
266	Between Supaul to Baptiyah i on NH- 327A	SUPA UL	REG ULAR	164	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
267	Within 3 km from Sagi Chowk towards Khodaw andpur on SH 55	BEGUS ARAI	REG ULAR	135	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

268	Between Barauni Zero Mile and Chakia Thermal on EITHER SIDE on NH 31	BEGUS ARAI	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
269	Between Kutu chak & Shekupu r Sarai on SH-83	SHEIK HPUR A	REG ULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
270	Between primany school KOPARI MORE TO FASIYA KODHI MORE ON NH 327 E RHS	SUPA UL	REG ULAR	161	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
271	Between KM stone 626 and 614, on either side on NH 28(New NH 122)	BEGUS ARAI	REG ULAR	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
272	BHAGAL PUR Town(Wi thin Municip al Limit), on any major arterial road	BHAG ALPUR	REG ULAR	160	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
273	Between KM STONE 593 & KM STONE 584 on EITHER SIDE on NH	SAMA STIPU R	REG ULAR	220	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4

	20/Na	1				1		l			1	I		
	28(New													
	NH 122)													
274	Within 4 Kms from Bhatgam a Zero Mile on Bhatgam a Zero Mile to Naugach hia Road	BHAG ALPUR	REG ULAR	180	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
275	between Vill- Farka and Inglish on NH80 towards Ghogha	BHAG ALPUR	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
276	WITHIN 2 KM ON LHS FROM MIDDLE SCHOOL, CHAUHA TTA, KISHANP UR TOWAR DS SISOUNI CHOUK,S UPAUL ON NH327A	SUPA UL	REG ULAR	264	OPEN	C	35	45	1575	25	10	Biddi ng	30	5
277	5km from sabour on NH80 towards Ghogha	BHAG ALPUR	REG ULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
278	Between Akbarna gar to Sultangu nj on NH-80	BHAG ALPUR	REG ULAR	250	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

279	Between KM Stone 603 and 614, on either side on NH 28(New NH 122)	BEGUS ARAI	REG ULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
280	BHAGAL PUR Town (Within Municip al Limit), on any major arterial road	BHAG ALPUR	REG ULAR	168	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
281	SAHKUN D ON AMARPU R- DEOGHA R ROAD TOWAR DS PATNA BHAGAL PUR ROAD ON SH 85	BHAG ALPUR	REG ULAR	156	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
282	Village Jagdishp ur ,on SH -19 BHAGAL PUR- HANSDI HA ROAD	BHAG ALPUR	REG ULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
283	Between Dhakam ore and Puraini Bazar on SH-19	BHAG ALPUR	REG ULAR	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
284	Between Jagdishp ur and Puraini on SH-19	BHAG ALPUR	REG ULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

285	Within 2Kms from kajreli towards Bhagalp ur on sh- 25	BHAG ALPUR	REG ULAR	156	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
286	Between Sultangu nj and Bariyarp ur on NH-80	BHAG ALPUR	REG ULAR	250	OPEN CC 1	CC	35	45	1575	25	10	Biddi ng	30	5
287	Pista to Jamin tutapul on SH-19	BHAG ALPUR	REG ULAR	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
288	Within 4 Kms from Sikandra towards Abgilla on SH-8	JAMUI	REG ULAR	136	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
289	Within 3 Km on either side of Karpuri Chowk, Jhajha on NH- 333A	JAMUI	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
290	Between Katauna & Mahuli on NH- 333	JAMUI	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
291	RAMAD HEEN MAHAVI DYALAY TO RADHAS WAMI SATSAN G ON SHEIKHP URA- LAKHISA RAI ROAD ON SH	SHEIK HPUR A	REG ULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

292	WITHIN 3KM FROM BHATVA RA PANCHA YAT BHAWA N ON NH 81 ON LHS TOWAR DS KATIHAR	KATIH AR	REG ULAR	165	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
293	Between Jhajha & Simultal a on NH- 333A	JAMUI	REG ULAR	250	OPEN	CC	35	45	1575	25	10	Biddi ng	30	5
294	Between Chakai & Jharkhan d border on NH- 333	JAMUI	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
295	Between Khaira & Sono on NH-333A	JAMUI	REG ULAR	250	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
296	Between Khaira & Garhi on either side of SH-82	JAMUI	REG ULAR	126	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
297	Within 5 Kms on either side from LalBaghc howk towards Katihar Town on NH 131 A	KATIH AR	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
298	Within 5 km from Amadab ad on either side on NH 131A	KATIH AR	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

299	KATIHAR Town (Within Municip al Limit), on any major arterial road	KATIH AR	REG ULAR	170	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
300	Kursela to Naugach ia on NH 31, Katihar District.	KATIH AR	REG ULAR	260	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
301	3 Km from Bolia Gumti towards Manihari on NH 131A	KATIH AR	REG ULAR	265	OPEN	S	35	45	1575	25	10	Biddi ng	30	5
302	Between Malaypu r & Laxmipu r on NH- 333	JAMUI	REG ULAR	250	OPEN	CC	35	45	1575	25	10	Biddi ng	30	5
303	3 kms from Kolasi Chowk towards Semapur RHS on NH 81	KATIH AR	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
304	Within 2 km of Dalan Chowk on NH 131A	KATIH AR	REG ULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
305	Between Dumar to Kursela on NH 31	KATIH AR	REG ULAR	215	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
306	Between Gerabari and Fulbarai a on NH -31 towards Begusar	KATIH AR	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

			l I					1		l	l	l		
	ai on													
	RHS													
207		14 4 7 11 1	550	250	0.00		25	4.5	4575	25	40	5:11:	20	
307	Between	KATIH	REG	250	OBC	CC	35	45	1575	25	10	Biddi	30	4
	Gerabari	AR	ULAR									ng		
	and Harda													
	on NH -													
	31													
	towards													
	Begusar													
	ai on LHS				0.551						4.0			
308	between	KHAG	REG	250	OPEN	CC	35	45	1575	25	10	Biddi	30	5
	KM mile	ARIA	ULAR									ng		
	stone													
	270 to													
	275 on													
	NH-31													
200	on RHS	CHEU	DE 0	4.50	66	050	25	4.5	4575			_	•	
309	Between	SHEIK	REG	160	SC	CFS	35	45	1575	0	0	Draw	0	3
	Sarmera	HPUR	ULAR									of		
	and	Α										Lots		
	Barbigha													
	on NH-													
	82(New NH 33)													
310	between	KHAG	REG	250	OBC	CC	35	45	1575	25	10	Biddi	30	4
310	pensalw	ARIA	ULAR	230	OBC	CC	33	43	13/3	23	10		30	4
	a to bela	ANIA	OLAK									ng		
	banjrang													
	bali													
	mandir													
	on NH-													
	107													
311	Within	KHAG	REG	250	OPEN	CC	35	45	1575	25	10	Biddi	30	5
	3KMs of	ARIA	ULAR	230	J. L.		33	.5	13,3		10	ng	30	
	Maheshk		0 = 7									6		
	hunt on													
	NH -31													
	LHS													
	towards													
	Purnea													
312	Between	KHAG	REG	250	OPEN CC	CC	35	45	1575	25	10	Biddi	30	5
	Mansi	ARIA	ULAR		1							ng		
	and													
	Maheshk													
	hunt on													
	NH-31		<u> </u>											
1	NH-31													

313	5Kms from Dak- Bangla Chowk,P auwakha li towards Thakurg anj on NH 327E	KISHA NGAN J	REG ULAR	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
314	within 8km from Tappu Block Chowk towards tulsiya on SH 99	KISHA NGAN J	REG ULAR	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
315	Within 2 km of Harwada nga Chowk towards Dighalba nk on SH 99	KISHA NGAN J	REG ULAR	180	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
316	Within 4 Km from Halsi Towards ramgarh on SH-8	LAKHI SARAI	REG ULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
317	Within 5 Km from Jamui More in Lakhisar ai towards Jamui on SH-18	LAKHI SARAI	REG ULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
318	Within 4 km from Nadiyaw an towards Ramgarh Chowk on SH-18	LAKHI SARAI	REG ULAR	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
319	Within 3 KM of Tarhari on either side of NH-333A	LAKHI SARAI	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

320	Within 4KM from Kosi Bridge on NH 57 LHS towards Dharban ga	SUPA UL	REG ULAR	154	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
321	Between Surajgar ha & Medni Chowki on NH- 80(New NH 33)	LAKHI SARAI	REG ULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
322	Between Barhiya & Bahadur pur (Haruhar Bridge) on NH- 80(New NH 33)	LAKHI SARAI	REG ULAR	160	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
323	Between Singhesh war to Pipara on NH- 106 RHS	MADH EPURA	REG ULAR	182	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
324	Between Udakish unganj to Ratha Chouk on NH - 106	MADH EPURA	REG ULAR	153	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
325	Within 3 KM of Girihinda Chowk towards Barbigha on NH- 333A	SHEIK HPUR A	REG ULAR	250	OBC	CC	35	45	1575	25	10	Biddi ng	30	4
326	ON MURLIG ANJ BYE PASS ROAD	MADH EPURA	REG ULAR	136	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
327	Between Kasba and Jalalgarh	PURNI A	REG ULAR	260	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	on NH 57													
328	FROM DURGA MANDIR CHOWK, SINGHES HWAR TO GAMHA RIA BAZAR WITHIN 3 KM ON EITHER SIDE OF SH 66	MADH EPURA	REG ULAR	136	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
329	DWARIK A TOLA BETWEE N MILE STONE 104 & 107 ON NH 107 ON PURNEA MADHEP URA HIGHWA Y	MADH EPURA	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
330	Within 5kms from tarapur on sh-22 towards Belhar	MUNG ER	REG ULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
331	BETWEE N BARIYAR PUR TO KHARAG PUR ON NH 333	MUNG ER	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
332	Kaldi Khada to Birpur on NH 327E	PURNI A	REG ULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
333	Within 2 km of Kasba on SH 60 towards Jalalgarh	PURNI A	REG ULAR	115	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

334	PURNEA (Within Municip al Limit), on any major arterial road	PURNI A	REG ULAR	215	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
335	In between Line Bazar and Khushiba gh in Purnea Town within Municip al Limits	PURNI A	REG ULAR	220	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
336	Kachaha ri balua to baijnath pur on SH 77	PURNI A	REG ULAR	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
337	Between Madhub ani bazaar and Banbhag h on NH 107 on RHS towards madherp ura	PURNI A	REG ULAR	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
338	Belagach i Chowk to fatki chowk NH31 on towards Dalkhola	PURNI A	REG ULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
339	5 kms from Gokulpu r Chowk towards Sarsi (NH-107)	PURNI A	REG ULAR	185	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
340	Lasanpur Chowk to Belgachh i on NH31	PURNI A	REG ULAR	275	OBC	CC	35	45	1575	25	10	Biddi ng	30	4

	1116	1			Ι	l			1		l	l	I	
	LHS													
	towards													
	Purnia.													
341	Gokulpu	PURNI	REG	150	SC	CFS	35	45	1575	0	0	Draw	0	3
	r Chouk	Α	ULAR									of		
	to Sarsi											Lots		
	on													
	NH107													
342	Thana	PURNI	REG	280	OPEN	CC	35	45	1575	25	10	Biddi	30	5
	Chowk	Α	ULAR									ng		
	TO													
	BANBHA													
	G IN													
	PURNEA													
	TOWN													
	ON NH													
	107													
343	SUPAUL	SUPA	REG	164	OPEN	DC	20	20	400	25	45	Draw	15	5
	Town	UL	ULAR									of		
	(Within											Lots		
	Municip													
	al Limit),													
	on any													
	major													
	arterial													
	road													
344	WITHIN	MADH	REG	125	OBC	DC	35	35	1225	25	60	Draw	15	4
	3 KM	EPURA	ULAR									of		
	FROM											Lots		
	TIKULIA													
	CHOWK													
	WHILE													
	GOING													
	TOWAR													
	DS													
	KUMARK													
	HAND													
345		PURNI	REG	120	SC	CFS	35	35	1225	0	0	Draw	0	3
	ur Balua	Α	ULAR									of		
	to											Lots		
	Tarauni													
	Milik on													
	SH 65													
346	Purnea	PURNI	REG	255	OPEN	CC	35	45	1575	25	10	Biddi	30	5
	zero	Α	ULAR									ng		
	mile to													
	Kasba on													
	NH 57													
	LHS													
	towards													
	darbhan													
	ga													

347	Within 2 km of Purnea City on SH 60 towards Kasba	PURNI A	REG ULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
348	K Nagar Chowk to Meergan j on SH 65	PURNI A	REG ULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
349	FROM BHAWTI YAHI BAZAR NH CHOWK TO KOSHI MAHASE TU WITHIN 4 KM ON NH 57 ON RHS	SUPA UL	REG ULAR	174	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
350	BETWEE N Masraf Chowk to Yadav Chowk Dumrail RHS ON NH-107	SAHAR SA	REG ULAR	152	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
351	Saharsa to Madhep ura on NH 107 between mileston e 79 and 82 on right hand side towards madhep ura	SAHAR SA	REG ULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

352	WITHIN 3 KM FROM GORHO PASTWA R CHOWLK TOWAR DS BULWAH A KOSI BRIDGE, RHS ON SH 17	SAHAR SA	REG ULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
353	Between Mushrig harari Chowk and Halai Bazar on NH- 322(Old NH 103)	SAMA STIPU R	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
354	IN BETWEE N KM KM STONE NO. 135 TO 137 ON NH 57 ON LHS WHILE MOVING FROM DARBHA NGA TO PURNEA	SUPA UL	REG ULAR	154	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
355	Between Bindgam a Chowk and Hettanp ur on SH-93	SAMA STIPU R	REG ULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
356	Within 4 KM of Samastip ur Bus Stand towards Tajpur on SH 49	SAMA STIPU R	REG ULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

357	Within 3 KM of Pipra Bazaar on NH 106	SUPA UL	REG ULAR	182	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
358	WITHIN 3 KMS ON SH 93 FROM MADUD ABAD CHOWK TOWAR DS BACHW ARA	SAMA STIPU R	REG ULAR	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
359	Within 2 KM on either side of Tekuna math Durga Mandir on SH-88	SAMA STIPU R	REG ULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
360	Pratapga nj to Rambish anpur on NH 57 on LHS towards darbhan ga	SUPA UL	REG ULAR	153	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
361	Between Mahave er Chowk Dalsingh sarai & Middle School Kalyanp ur SH-88	SAMA STIPU R	REG ULAR	130	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
362	Within 3 KM of R L Mahto Institute of Educatio n towards Rosera on SH-88	SAMA STIPU R	REG ULAR	115	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

363	Within 5 kms from Bishanp ur Bus Stand towards Angargh at Bridge on SH-55	SAMA STIPU R	REG ULAR	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
364	WITHIN 3 KMS FROM MADUD ABAD CHOWK TOWAR DS BARHAU NA ON LHS OF SH 93	SAMA STIPU R	REG ULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
365	Munger Town (Within Municip al Limit), on any major arterial road	MUNG ER	REG ULAR	165	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
366	SAMASTI PUR Town (Within Municip al Limit), on any major arterial road	SAMA STIPU R	REG ULAR	155	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
367	Within 3 KM of Chewara police station on NH- 333A	SHEIK HPUR A	REG ULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
368	2 Km from Simri Durga Temple towards Naubatp ur on NH 98 on RHS	PATN A	REG ULAR	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

369	2 Km from Hanuma n Mandir at Morhar towards Jehanab ad on NH 83	PATN A	REG ULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
370	Within 5 km on Chenari Road from intersect ion of NH2 & SH67 at Sakri on Chenari road on SH-67	KAIM UR	REG ULAR	160	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
371	5 km from Bihita Railway stn on SH 78 on LHS or RHS from Bihita to Naubatp ur	PATN A	REG ULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
372	WITHIN 3 KMS FROM LAKSHMI BIGHA TOWAR DS NARHAT ON SH 103 ON RHS	NAWA DA	REG ULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
373	3Km From Cross over of Bailey rd. & digha bridge link road towards Jagjivan stadium	PATN A	REG ULAR	240	OPEN CC 2	DC	20	20	400	25	60	Draw of Lots	15	5

	under overbrid													
	ge													
374	within 4	BUXA	REG	165	OBC CC 1	DC	35	45	1575	25	75	Draw	15	4
3/4	km of	R	ULAR	105	OBCCCI	DC	33	45	15/5	25	/5	Draw of	15	4
	Madhya Bihar											Lots		
	Gramin													
	bank Sonbars													
	ha on													
	LHS on NH30													
	while													
	going from ara													
	to													
375	mohania On Lala	AURA	REG	165	OPEN	DC	35	35	1225	25	60	Draw	15	5
	Amouna	NGAB	ULAR									of		
	Pnchaya t manar	AD										Lots		
	within 2													
	Km from Bhakaru													
	a More													
	towards Gaya on													
	SH 7 on LHS													
376	within	AURA	REG	175	SC	CFS	35	45	1575	0	0	Draw	0	3
	1km eithersid	NGAB AD	ULAR									of Lots		
	e of	AD										LOCS		
	village Gheura													
	block													
	Kutumba on													
	NH139													
	on LHS(goin													
	g from													
	Gheura to													
	Rishiyap)													

377	BETWEE N KM STONE 97 TO 99 ON RHS WHILE GOING FROM NAWAD A TO BIHARSA RIF ON NH 31 (NEW	NAWA DA	REG ULAR	260	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
378	NH 20) B/W Prathami k swastha Kendra,R isiap & Sadsa on LHS from Auranga bad towards Jharkhan d on old NH98	AURA NGAB AD	REG ULAR	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
379	WITHIN GAYA MUNICIP AL LIMIT	GAYA	REG ULAR	220	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
380	WITHIN 2 KMS FROM SIPHA MORE TOWAR DS KERA ON RHS ON OLD NH 98 (NEW NH 139)	AURA NGAB AD	REG ULAR	275	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
381	within 2 km from Tarari More towards Jinoriya on LHS on old NH 98 (new NH 139)	AURA NGAB AD	REG ULAR	175	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3

222					0.551							_		
382	FROM	AURA	REG	175	OPEN	DC	35	45	1575	25	75	Draw	15	5
	VILLAGE NAGAIN	NGAB AD	ULAR									of		
	TO	AD										Lots		
	DEVHAR													
	A ON													
	GAYA-													
	DAUDNA													
	GAR MAIN													
	ROAD													
	SH7/NH													
	120													
202		DATN	DEC	170	ODEN	DC	35	45	1575	25	75	Drow	1 -	
383	Within 4	PATN A	REG ULAR	170	OPEN	DC	35	45	15/5	25	/5	Draw of	15	5
	Km from intersect	А	ULAK									Lots		
	ion of											LUIS		
	NH 30													
	and NH													
	30A													
	towards													
	Daniyaw													
	an on													
	either													
	side.													
384	B/n	NAWA	REG	260	OBC	СС	35	45	1575	25	10	Biddi	30	4
	Pakadiha	DA	ULAR	200	020				2075			ng		•
	More to											6		
	Kharat													
	on LHS													
	while													
	going													
	from													
	Nawada													
	to													
	Biharsari													
	f on NH													
	31 (New													
	NH 20)													
385	Within	PATN	REG	105	SC	CFS	20	20	400	0	0	Draw	0	3
	Barh	Α	ULAR									of		
	Nagar											Lots		
	Panchay													
	at Limits													
	on main													
	or													
	arterial													
	roads (
	Not on													
	NH or SH													
)				1	l		l						

386	Within 2 KM From Intersect ion of Wazirga nh - Fatepur Road and SH 70 on SH 70 Towards Rajauli	GAYA	REG ULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
387	In between Arwal to Pali on NH 98(New NH139)	ARWA L	REG ULAR	265	OPEN CC 1	CC	35	45	1575	25	10	Biddi ng	30	5
388	With in 2 km from Sadisopu r railway crossing towards Bhita SH 78	PATN A	REG ULAR	165	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
389	Within 5 kms from intersect ion of Hatta- Durgawa ti Road and NH2 on NH-2 on LHS towards Varanasi	KAIM UR	REG ULAR	260	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
390	Within 3 Km of Beldari chowk towards Bihta on SH 78	PATN A	REG ULAR	175	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
391	WITHIN 5KMS FROM SADHBH AWNA CHOWK TOWAR DS HISUA	NAWA DA	REG ULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

	ON SH 8					l					I			
	OIN 3FI 6													
392	FROM KANHAU LI MORE TOWAR DS SHIVLA ON SH 78 WITHIN 3 KMS ON RHS	PATN A	REG ULAR	165	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
393	WITHIN 10 KM OF MOHANI A ON EITHER SIDE OF NH 2 TOWAR DS AURANG ABAD	KAIM UR	REG ULAR	275	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
394	WITHIN 4 KM FROM MARANP UR TOWAR DS DUBHAL ON TIKUNA BYEPASS ROAD IN GAYA WITH IN MUNICIP AL LIMIT	GAYA	REG ULAR	243	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
395	within 2 km either side of Dumrao n Kothi on NH84	BUXA R	REG ULAR	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

396	Within 1km on either side of village Bhadkur on NH139 on LHS while going from Rishiyap to Bhadkur	AURA NGAB AD	REG ULAR	265	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
397	Within 5 km on either side of Baghatol a Shiv Temple on old NH 98 (New NH 139)	PATN A	REG ULAR	175	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
398	WITHIN 2.5 KM FROM ROH POLICE STATION ON SH 82	NAWA DA	REG ULAR	130	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
399	within 5km of intersect ion of NH120 & NH84 on NH120 towards Maliyaba g	BUXA R	REG ULAR	165	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
400	Within Masaurh i Municip al limits on SH 1	PATN A	REG ULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
401	WITHIN 2KM FROM BHAKHRI MORE TOWAR DS PATNA	PATN A	REG ULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

	ON SH1													
402	WITHIN 2 KM FROM NARMA GATE TOWAR DS BELDARI CHOWK ON RHS ON SH 78	PATN A	REG ULAR	145	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
403	IN BETWEE N CHAKAN D AND BELA ON NH 83 (NEW NH NO 22)	GAYA	REG ULAR	175	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
404	Within 2 KM on either side of Jatdumri Halt on SH 78	PATN A	REG ULAR	155	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
405	WITHIN 3 KM FROM FATEHP UR PRIMAR Y HEALTH CENTRE TOWAR DS WAZIRG ANJ MORE ON SH 70.	GAYA	REG ULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
406	Within Shashtri Nagar on main or arterial road.	PATN A	REG ULAR	240	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

407	WITHIN 5KM OF DINARA TOWAR DS KOCHAS ON NH- 30	ROHT AS	REG ULAR	185	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
408	In Between Km Stone 48 & 51 on SH 78 from Bihita towards Daniyaw aan	PATN A	REG ULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
409	Within 2 km of Fatehpur Mahavid yalaya towards Power grid Corporat ion, Gouri chak on SH1	PATN A	REG ULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
410	Sakdadi to nasirganj on SH-81 RHS, Vill- Ghai, Panchiya t- Chakrab huj, PS- Sahar	BHOJP UR	REG ULAR	155	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
411	KUMHR AR PARK TO RAJESW AR HOSPITA L ON KANKER BAGH MAIN ROAD	PATN A	REG ULAR	240	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

412	WITHIN 5KM FROM BIKRAM GANJ TOWAR DS MALYAB AG ON NH120 NEW	ROHT AS	REG ULAR	175	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
413	Within Piro Nagar Panchay at limit.	BHOJP UR	REG ULAR	105	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
414	Between Baulia and Paruka on NH- 2C	ROHT AS	REG ULAR	205	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
415	WITHIN 3KM OF THANA CHOWK TOWAR DS TILHAUT HU ON NH-2C	ROHT AS	REG ULAR	215	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
416	Within Municip al limit of Buxar town on main or Arterial Road	BUXA R	REG ULAR	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
417	WITHIN 2 KM FROM PATNA JUNCTIO N ON NEW BYE PASS SIPARA	PATN A	REG ULAR	235	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
418	IN BETWEE N MILESTO NE NUMBER 4 TO 6 FROM SASARA	ROHT AS	REG ULAR	170	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

	M TO													
	KARGHA R ON													
	LHS ON													
	SH-17													
419	Between	PATN	REG	115	OPEN	DC	35	35	1225	25	60	Draw	15	5
413	Km	A	ULAR	113	OPLIN	DC	33	33	1223	23	00	of	13	3
	Stone 15		027									Lots		
	and 19													
	on SH-1(
	on RHS													
	from Patna to													
	Gaya)													
420	WITHIN	ROHT	REG	185	OPEN	DC	35	45	1575	25	75	Draw	15	5
	3KM ON	AS	ULAR									of		
	EITHER											Lots		
	SIDE OF													
	MALYAB AG ON													
	NH30													
421	Within 3	BUXA	REG	175	SC CC 1	CFS	35	45	1575	0	0	Draw	0	3
	KM of	R	ULAR									of		
	Navanag											Lots		
	ar Thana													
	on NH120													
422	3 Km	PATN	REG	200	OBC CC 1	DC	35	45	1575	25	75	Draw	15	4
	from	Α	ULAR									of		
	Daniyaw											Lots		
	aan Railway													
	crossing													
	towards													
	Bihar													
	Sharif on													
	NH 30-A on LHS													
423	Within 2	PATN	REG	115	OPEN	DC	35	35	1225	25	60	Draw	15	5
	Km of	Α	ULAR	-			_			-		of		
	Beldari											Lots		
	chowk													
	towards Gauri													
	Chak on													
	SH 1													
424	Between	PATN	REG	110	OPEN PH	DC	35	35	1225	25	60	Draw	15	5
	Km	Α	ULAR									of		
	Stone 22 and 26											Lots		
	on SH1													
	From													
	Patna													
	Towards													
	Gaya													

425	Village Pankara, Block – Dumriya on SH 69	GAYA	REG ULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
426	BAGHI BARDIG HA MORE TO VIVEKAN ANDA PUBLIC SCHOOL WARSILI GNAJ ON SH 8 LHS	NAWA DA	REG ULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
427	WITHIN 5 KM FROM BAKHTIA RPUR MORE ON NEW NH 30 TOWAR DS PATNA ON RHS	PATN A	REG ULAR	310	OPEN	С	35	45	1575	25	10	Biddi ng	30	5
428	Within 2 kms from Kargahar Block office towards Kochas on LHS on SH-17	ROHT AS	REG ULAR	165	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
429	Within 5 KM from Dawath Police station towards Malyaba g on NH120 new	ROHT AS	REG ULAR	175	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
430	5 KM FROM JUNCTIO N OF SH 1 AND SH 78 ON SH1 ON LHS	PATN A	REG ULAR	210	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

	or RHS TOWAR DS DHANAR UA													
431	B/w Km Stone 12 & 16 on NH 83 (new NH 22) on LHS While going from Patna to Masaurh i	PATN A	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
432	Within 8 Km from Daniyaw an Junction towards Fatuah on NH 30A	PATN A	REG ULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
433	Within municip al limits of Dumrao n on main or arterial road.	BUXA R	REG ULAR	170	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
434	WITHIN 10 KMS OF BIHTA CHOWK TOWAR DS ARRAH ON NH 30	PATN A	REG ULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
435	Within 4km From junction of NH 30 and 31 towards Harnaut on NH	PATN A	REG ULAR	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

	24 ON				I									
	31 ON													
	LHS													
436	Between	ARWA	REG	185	OPEN CC	DC	35	45	1575	25	75	Draw	15	5
	KM	L	ULAR		1					_		of		
	stone 74											Lots		
	and 78													
	while													
	moving													
	from													
	Arwal													
	towards													
	Jehanab													
	ad on													
	NH-110													
437	FROM	GAYA	REG	160	OBC	DC	35	35	1225	25	60	Draw	15	4
	JUNCTIO		ULAR									of		
	N POINT											Lots		
	OF SH 7													
	AND SH													
	69 TO													
	TEKARI													
	ON SH													
	69													
438	WITHIN	PATN	REG	320	SC	CFS	35	45	1575	0	0	Draw	0	3
	4 KM	Α	ULAR									of		
	FROM											Lots		
	BAKHTIA													
	RPUR													
	MORE													
	ON NH													
	30													
	TOWAR													
	DS													
	PATNA													
	ON LHS													
439	WITHIN	PATN	REG	280	OPEN	DC	35	45	1575	25	75	Draw	15	5
	2 KM	Α	ULAR									of		
	FROM											Lots		
	MANER													
	POST													
	OFFICE													
	TOWAR													
	DS													
	DANAPU													
	R ON NH													
1	30							1]			

440	WITHIN 3 KMS FROM AGNAUR MORE TOWAR DS KALER ON LHS ON NH98,NE W NH139	ARWA L	REG ULAR	260	OBC	CC	35	45	1575	25	10	Biddi ng	30	4
441	ANAITH BUS STAND TO ANAITH POST OFFICE ARA	BHOJP UR	REG ULAR	145	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
442	Bewteen KM stone number 952 and 955 on LHS while moving from delhi towards Kolkata On NH2	AURA NGAB AD	REG ULAR	260	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
443	Within 3 Km from Bikramg anj Chowk towards Ara on SH-12	ROHT AS	REG ULAR	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
444	Within 2 km on either side of KK High School, Sanjhauli on Sasaram Bikramg anj Road on SH-12	ROHT AS	REG ULAR	155	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

445	In Between Sherghat i to Imamga	GAYA	REG ULAR	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
446	nj on SH 69 Within Mileston e 3 and Mileston e 8 towards Nasrigan	ROHT AS	REG ULAR	170	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
447	j on SH- 15 Within 3 km of Danwar towards Nasariga nj ON	ROHT AS	REG ULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
448	SH-81 Within 3 Km from Bikramg anj Post office towards Natwar on SH-15	ROHT AS	REG ULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
449	Between 6th-8th mileston e on SH- 67 within 2 Km of Telari on Kudra Chenari Road	ROHT AS	REG ULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
450	Bewteen KM stone number 949 and 952 on LHS while moving from delhi towards Kolkata On NH2	AURA NGAB AD	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

451	Between Kilometr e stone 926 and 929 on LHS while going from Delhi to Kolkata on NH2	ROHT AS	REG ULAR	250	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
452	Within 2 km of Kharari towards Sasaram on SH-12	ROHT AS	REG ULAR	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
453	Between Savari Lakh and Suryanat h Uchya Vidhyala ya on SH-81	ROHT AS	REG ULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
454	Between KM stone 13 and 16 ON RHS from Dehri towards Bikramg anj on SH-15	ROHT AS	REG ULAR	170	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
455	Between Kilometr e stone 922 and 918 on LHS while going from Kolkata towards Delhion NH2	ROHT AS	REG ULAR	250	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
456	Between Km stone no.895 and 900 on NH-2 on LHS while	ROHT AS	REG ULAR	220	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	going towards Kolkata													
457	Between Kilometr e stone 905 and 895 on LHS while going from Kolkata to Delhi on NH2	ROHT AS	REG ULAR	250	OPEN	CC	35	45	1575	25	10	Biddi ng	30	5
458	Between Kilomter stone 940 and 945 on LHS while going from Kolkata towards Delhi on NH2	AURA NGAB AD	REG ULAR	255	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
459	Within 2 KM from Manikpu r Police Stn towards Kurtha on SH 69 on LHS.	ARWA L	REG ULAR	125	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
460	Within 10 KM from Ambedk ar Chowk on LHS while going from Bihar Shariff towards Jehanab ad ON NH110	NALA NDA	REG ULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

461	NH 83 (NEW NH 22) B/W SIPARA TO PARSA BAZAR RLY STN	PATN A	REG ULAR	165	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
462	Within 2 Km of subdivisi onal office Rajauli on LHS while going from Ranchi to Patna on NH	NAWA DA	REG ULAR	260	OBC	C	35	45	1575	25	10	Biddi ng	30	4
463	Within 5 Km of Buxar Golamba r on NH84 towards Ara	BUXA R	REG ULAR	175	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
464	Between Banatra Said and Devkund Shiv temple on SH-68	AURA NGAB AD	REG ULAR	155	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
465	2 KM From Parwalp ur Bazar Towards Biharsha riff on NH-110 (New NH No.33)	NALA NDA	REG ULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
466	7KM from Arwal police station on RHS from Arwal towards	ARWA L	REG ULAR	260	OBC	CC	35	45	1575	25	10	Biddi ng	30	4

		1			ı	ı		ı	1	ı	ı	ı		
	Patna on													
	old NH													
	98 ,NEW													
	NH139													
467	Between	NALA	REG	170	OPEN	DC	35	45	1575	25	75	Draw	15	5
407	KM	NDA	ULAR	170	OFLIN	DC	33	43	13/3	23	/3	of	13	J
	stone 16	NDA	OLAN									Lots		
	to 19 on											LOUS		
	NH 110													
	(New NH													
	no 33)													
468	Within 2	JEHAN	REG	170	OPEN	DC	35	45	1575	25	75	Draw	15	5
	KM	ABAD	ULAR	-								of		
	From											Lots		
	Madhya													
	Bihar													
	Gramin													
	Bank													
	Jhunathi													
	on RHS													
	while													
	moving													
	from													
	Arwal towards													
	Jehanab													
	ad													
469	Within	JEHAN	REG	170	SC	CFS	35	45	1575	0	0	Draw	0	3
	5kms	ABAD	ULAR									of		
	from											Lots		
	UBI,													
	Nehalpu													
	r on NH-													
	110													
	(New													
	NH-33)													
470	FROM	NAWA	REG	150	OBC	DC	35	35	1225	25	60	Draw	15	4
	BAGHI	DA	ULAR									of		
	BARDIH											Lots		
	A MORE TO													
	PRAJATA													
	NTRA													
	CHOWK													
	ON SH 8													
471	WITHIN	GAYA	REG	150	OPEN	DC	35	35	1225	25	60	Draw	15	5
	5 KMS		ULAR									of		
	FROM											Lots		
	GAYA													
	ENGINEE													
	RING													
	COLLEGE													
	TOWAR													
	DS													
					I	I	1	·	I	I	l	<u> </u>		

			1			1	1		1	1	1	1		
	KHIZERS													
	ARAI ON													
	RHS ON													
	SH 4													
												_		
472	WITHIN	GAYA	REG	165	OPEN CC	DC	35	35	1225	25	60	Draw	15	5
	KM		ULAR		2							of		
	STONE											Lots		
	NO 5 & 8													
	FROM													
	VANGAN													
	GA TO													
	JETHIAN													
	ON SH													
	71													
473	3km	NALA	REG	150	OBC CC 1	DC	35	35	1225	25	60	Draw	15	4
	from	NDA	ULAR			_	_					of	-	
	krishna											Lots		
	ballabh													
	chowk													
	islampur													
	towards													
	Gaya on													
	SH-4													
474	WITHIN	ROHT	REG	185	SC CC 1	CFS	35	45	1575	0	0	Draw	0	3
4/4	4KM OF	AS	ULAR	103	30 00 1	CF3	33	43	13/3		0	of	U	3
	KOCHAS	AS	ULAK									Lots		
	TOWAR											LUIS		
	DS													
	PARSAT													
	HUA ON													
4	NH-30	Bucc	DE 0	4=0	05	D.0	22	2.2	460	2-			4-	
475	Within	BUXA	REG	170	OPEN	DC	20	20	400	25	45	Draw	15	5
	Buxar	R	ULAR									of		
	municip											Lots		
	al limit													
	between													
	Aadarsh													
	Police													
	station &													
	Bibiganj													
476	Between	PATN	REG	225	OPEN	DC	20	20	400	25	60	Draw	15	5
	hartali	Α	ULAR									of		
	more to											Lots		
	Digha on													
	the new													
	Road													
	over old													
	rail line													
					1	l	1	ı	·	·	·	·		

477	5 KM ON EITHER SIDES FROM VIVEKAN AND PUBLIC SCHOOL WARISAL IGANJ ON SH 83	NAWA DA	REG ULAR	145	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
478	Between Dobhi & Sherghat i on NH 2	GAYA	REG ULAR	250	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
479	Between Saguna More and Radiant School Khagaul, LHS	PATN A	REG ULAR	230	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
480	Within Rukanpu ra in patna municip al limits on main or arterial roads.	PATN A	REG ULAR	230	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
481	Between KM stone 79 and 83 from Arwal towards Auranga bad on NH- 98,new NH139	ARWA L	REG ULAR	260	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
482	From Saguna More to Danapur Railway Station on RHS	PATN A	REG ULAR	170	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

483	WITHIN 5KMS FROM PANCHA NPUR POLICE STATION TOWAR DS GAYA	GAYA	REG ULAR	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
484	ON SH 7 5 Km from Cross over of Bailey road and digha bridge link road towards Digha under overbrid ge	PATN A	REG ULAR	230	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
485	MITHAP UR BUS STAND ROAD ON BOTH SIDE FROM MITHAP UR CROSSIN G TO KARBIGA HIYA	PATN A	REG ULAR	230	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
486	From Radiant School Khagaul to Danapur Railway Station on LHS	PATN A	REG ULAR	220	OPEN CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
487	FROM TEKARI TO KINJER ON SH 69 WITHIN GAYA DISTRICT	GAYA	REG ULAR	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

488	B/W KUMHR AR OVER BRIDGE AND MAA SHITLA MANDIR AGAMK UAN ON KANKAR BAGH MAIN RD ON RHS	PATN A	REG ULAR	230	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
489	B/W KM POST 202 TO 205 ON LHS FROM PATNA TOWAR DS BAHTIYA RPUR ON NH 30	PATN A	REG ULAR	260	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
490	Within 3 KM of Wazirga nj towards Hisua on Wazirga nj - Hisua Road NH 82	GAYA	REG ULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
491	within 5 km on either site of Brahamp ur Chaurast a on NH84	BUXA R	REG ULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
492	WITHN 3 KILOMET ERS FROM BIBIGAN J BAZAR TOWAR DS BUXAR ON LHS ON	BHOJP UR	REG ULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

			1			1		1	1		1			1
	ARRAH -													
	BUXAR													
	HIGHWA													
	Y NH -													
	84													
493	Within	PATN	REG	285	OPEN	CC	35	45	1575	25	10	Biddi	30	5
455	4Km	A	ULAR	203	OI LIV		33	73	13/3	23	10	ng	30	
	from	^	OLAN									116		
	Bank Of													
	India													
	Dariyapu													
	r branch													
	towards													
	Bikram													
	on OLD													
	NH													
	98(NEW													
494	NH139). Within 4	PATN	REG	295	OPEN	CC	35	45	1575	25	10	Biddi	30	5
494				295	OPEN	CC	35	45	15/5	25	10		30	5
	Km From	Α	ULAR									ng		
	Mahabal													
	ipur Chowk													
	towards													
	patna on													
	old NH-													
	98 (NEW													
	NH-139)													
495	on LHS 2 Km	NIANAZA	REG	130	OBC	DC	35	35	1225	25	60	Draw	15	
495		NAWA DA		130	OBC	DC	35	35	1225	25	60	Draw of	15	4
	from	DA	ULAR											
	intersect											Lots		
	ion of													
	Wazirga													
	nj- Fatehpur													
	Road													
	and													
	SH70 on													
	SH70 011													
	towards													
	Rajauli													
496	Within	KAIM	REG	175	ST	CFS	35	45	1575	0	0	Draw	0	3
450	2km	UR	ULAR	1/3	31	CF3	33	40	13/3	U		of	U	3
	either	UI.	OLAN									Lots		
	side of											LUIS		
	Bhabhua													
	Jail on													
	NH219													
	INITELE					L		<u> </u>			L			

497	Within 4 Km From Mahabal ipur Chowk towards Arwal on OLD NH 98(NEW NH139)	PATN A	REG ULAR	285	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
498	Within 2KM From Bariya Middle School on Gaya Nawada Road (NH82)o n LHS while going from Gaya to Hisua	GAYA	REG ULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
499	IN ISLAMPU R WIHTHI N MUNICIP AL LIMITS ON MAIN OR ARTERIA L ROADS.	NALA NDA	REG ULAR	130	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
500	Within 5 kms from intersect ion of Durgawa ti- Ramgarh Road and NH2 on NH-2 on LHS towards Kolkata	KAIM UR	REG ULAR	160	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3

501	Between KM stone 71 and 74 on RHS while going from Arwal towards Auranga bad on NH 98,new NH139	ARWA L	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
502	FROM FATEHP UR GOVT HOSPITA L TOWAR DS VAZIRGA NJ MORE WITHIN 3 KM ON SH70 GAYA- RAJAULI ROAD	GAYA	REG ULAR	145	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
503	Within 3 Km from Ibrahimp ur Mod (intersec tion of SH 102 & Sh 12) towards Sikraul on SH- 102	BHOJP UR	REG ULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
504	Within 3 KM of Chandw a More on NH 84 towards Buxar	BHOJP UR	REG ULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
505	within 5 KM from intersect ion of SH102 and	BHOJP UR	REG ULAR	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

	CUO1							I						
	SH81													
	toward													
	Sikraul													
506	within	BHOJP	REG	150	OPEN	DC	35	45	1575	25	75	Draw	15	5
	2kms of	UR	ULAR									of		
	Gyanjyot											Lots		
	i public													
	school													
	(Milky													
	Rampur)													
	on NH84													
	on RHS													
	while													
	going to													
	buxar													
507	within 5	BHOJP	REG	125	OBC	DC	35	35	1225	25	60	Draw	15	4
	KM from	UR	ULAR									of		
	intersect											Lots		
	ion of													
	SH102													
	and													
	NH30													
	towards													
	piro on													
500	SH102	4514/4	DE C	425	OBENI	D.C.	25	25	4225	25	60		45	
508	WITHIN	ARWA	REG	125	OPEN	DC	35	35	1225	25	60	Draw	15	5
	2KM OF	L	ULAR									of		
	KINJAR MORE											Lots		
	TOWAR													
	DS													
	PATNA													
	ON SH-													
	69													
509	KANKAR	PATN	REG	230	SC	CFS	20	20	400	0	0	Draw	0	3
	BAGH	Α	ULAR		-		-					of		
	MAIN RD											Lots		
	ON RHS													
	B/W													
	CHIRAIY													
	ATAND													
	FLYOVER													
	AND													
	RAJENDR													
	ANAGAR													
	OVER													
	BRIDGE													

510	KANKAR BAGH ROAD ON BOTH SIDE BETWEE N KANKAR BAGH COLONY MORE TO KANKAR BAGH AUTO STAND	PATN A	REG ULAR	230	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
511	Between KM stone 119 and 122 on RHS from Arwal towards Auranga bad on old NH 98 and New NH139	AURA NGAB AD	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
512	Between Km stone 122 and 125 on LHS from Arwal towards Auranga bad on old NH 98 NEW NH139	AURA NGAB AD	REG ULAR	250	OPEN CC 1	CC	35	45	1575	25	10	Biddi ng	30	5
513	2km from Islampur kali asthan mandir towards Jehanab d on SH- 71	NALA NDA	REG ULAR	164	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

								T			_		•	
514	Within 10 Km of bampali on Arrah bypass(N	BHOJP UR	REG ULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	H-84) towards													
	Patna													
515	Between Ekta Chowk and Kaimur Stambh (Within Bhabua Municip al Limit)	KAIM UR	REG ULAR	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
516	within 5 km from Dharhar a bridge on NH30 towards Patna	BHOJP UR	REG ULAR	215	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
517	Within 3 KM of kinjar towards Arwal on NH110	ARWA L	REG ULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
518	within 3kms of Gajrajga nj Police Stationo n on NH84 towards Buxar	BHOJP UR	REG ULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
519	within 5 km from intersect ion of SH81 and NH30 on NH30 toward Koilwar	BHOJP UR	REG ULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

520	2 km from Jaganpur a Byepass towards Bishop Scott Girl's school, RHS within Patna Corporat ion limits	PATN A	REG ULAR	220	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
521	WITHIN 5 KILOMET ERS FROM ARRAH ZERO MILE TOWAR DS ASANI ON RHS ON NH 30	BHOJP UR	REG ULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
522	Within 2km from sosandi on either side on SH-78	NALA NDA	REG ULAR	150	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
523	Between Tripolia Hospital Bus stop and Ambedk ar chowk on Shersha h Road.	PATN A	REG ULAR	170	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
524	BUDDHA MARG ON BOTH SIDE FROM PLANETA RIUM TO GOLGHA R CHAURA HA	PATN A	REG ULAR	230	OPEN PH	DC	20	20	400	25	60	Draw of Lots	15	5

525	3km from Sarbahd a more towards Rajgir RHS on SH-71	NALA NDA	REG ULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
526	Within 2 km from Junction of Ashiana Digha Road & Bailey Road on Ashiana Digha Road on RHS	PATN A	REG ULAR	240	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
527	FROM SADHBH AWNA CHOWK TO GYAN BHARTI SCHOOL ON SH 8	NAWA DA	REG ULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
528	B/W RAJENDR ANAGAR OVER BRIDGE AND JUNCTIO N OF NH 30 & 90 FT RD ON 90 FT ROAD	PATN A	REG ULAR	230	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
529	3km from Rajgir bus stand towards Islampur on SH 71	NALA NDA	REG ULAR	172	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
530	3 KM OF EITHER SIDE FROM AMRAI NAWAD A SCHOOL ON LHS	BHOJP UR	REG ULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

		1			1			l			Ι			
	WHILE GOING FROM BUXAR TO ARRAH ON NH 84													
531	Within 5 km of Chandni Chowk on NH 219 TOWAR DS BHABHU A	KAIM UR	REG ULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
532	WITHIN 5 KMS FROM DURGA CHOWK (RAMGA RH)TOW ARDS NUAON, on SH-14	KAIM UR	REG ULAR	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
533	ON LHS FROM BAGHI BARDIG HA MORE TO PAKRIW ARMA POLICE STATION ON SH 8	NAWA DA	REG ULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
534	within 4 Km from Mahabal ipur chowk towards Kanpa on RHS on old NH 98(New NH139)	PATN A	REG ULAR	285	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

535	On NH	BUXA	REG	230	OPEN CC	DC	35	45	1575	25	75	Draw	15	5
535	between DHALSA GAR AND OLD	R R	ULAR	230	1	DC	35	45	15/5	25	75	of Lots	15	5
	BHOJPU R													
536	Between Dulhinga nj and Asani on Arrah Mohania Road (NH 30)	BHOJP UR	REG ULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
537	With in 5Kms of Mahade v Mandir(Ranisaga r) towards Arrah on NH-84	BHOJP UR	REG ULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
538	From Mohania Toll Plaza gate towards Mohania within 3 Km on LHS on NH 2	KAIM UR	REG ULAR	300	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
539	Within 3 KM From JN. OF NH- 98 AND SH-2 TOWAR DS NAUBAT PUR ON NH- 98(NEW NH-139) ON LHS	PATN A	REG ULAR	285	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

540	Within 2 Km from Kanpa Bridge Golamba r towards Patna on old NH- 98 (NEW NH-139)	PATN A	REG ULAR	285	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
541	KANKAR BAGH MAIN RD B/W RAJENDR ANAGAR OVER BRIDGE AND KUMHR AR OVER BRIDGE	PATN A	REG ULAR	230	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
542	Within 2 Km from PNB Mitra Branch (Saidaba d) towards Chainpur a Nisharpu ra on Old NH 98 (new NH139)	PATN A	REG ULAR	285	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
543	Within 2 KM on either site of Shiv Mandir Repura on NH 82	GAYA	REG ULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
544	Within 10 km from junction of NH-2 and NH- 30 on NH-30 towards Arrah	KAIM UR	REG ULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

545	On LHS between km stone no. 918 and 914on LHS while going from Kolkata towards Delhi on NH2	ROHT AS	REG ULAR	225	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
546	Aarahdi on Gaya - Patna Road NH-83 (New NH No 22)	GAYA	REG ULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
547	Within 5 KM on either side of Harnaut Railway Coach Factory on NH 30 A	NALA NDA	REG ULAR	152	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
548	FROM UTKRIT MADHY A VIDYALA YA URDU JAMHAR IYA PAKRIW ARMA TO AARHA MORE ON SH 8	NAWA DA	REG ULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
549	With in 3kms from Bhabua Bus stop on Bahbua - Chainpur Bypass	KAIM UR	REG ULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

550	Within 3 KM on either site from Canara Bank Harnaut,	NALA NDA	REG ULAR	300	OPEN	CC	35	45	1575	25	10	Biddi ng	30	5
551	NH 31 NH 30 ON LHS B/W BIHAR REGIME NTAL CENTRE CSD AND SHERPU R BUS STAND	PATN A	REG ULAR	320	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
552	Between Mileston es 64 and 66 on LHS while going from Patna towards Gaya on NH 83 (on New NH 22)	JEHAN ABAD	REG ULAR	210	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
553	WITHIN GAYA MUNICIP AL LIMIT on Main or Arterial Road	GAYA	REG ULAR	245	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
554	Within 7KM of Arwal police station on LHS from Arwal towards towards Patna on NH 98,NEW NH139	ARWA L	REG ULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

555	On LHS Within 10 KM From Dohbi towards Sherghat i, NH-2	GAYA	REG ULAR	250	OBC	CC	35	45	1575	25	10	Biddi ng	30	4
556	On NH 30, Patna Towards Bakhtiya rpur between mileston e 207 and 211 on LHS	PATN A	REG ULAR	320	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
557	BW KM STONE 224 to 227 ON LHS ON NH30 FROM DIDARG AJ TOLL PLAZA TOWAR DS BAKHTIA RPUR	PATN A	REG ULAR	320	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
558	within 5 km of Krishnab raham chaurast a on NH84 towards Buxur on LHS while going Arrah to Buxar	BUXA R	REG ULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
559	On LHS Within 3 KM from POWER GRID While moving from Dumuha n towards	GAYA	REG ULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	Dohbi on Old NH 83 (New NH 22)													
560	Between Mileston e 214 and 223 on NH 30 on LHS while going from Bakhtiya rpur towards Patna	PATN A	REG ULAR	320	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
561	On LHS Within Mileston e no. 30 and 32 on NH 83 from Masaurh i towards Jehanab ad	PATN A	REG ULAR	155	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
562	NH 30 b/w Phulwari sharif Thana and BMP Khagaul	PATN A	REG ULAR	300	OBC	CC	35	45	1575	25	10	Biddi ng	30	4
563	WITHIN 5 KM FROM DIDARG ANJ TOLL BOOTH TOWAR DS BAKHTIA RPUR ON NEW NH 30 ON LHS	PATN A	REG ULAR	250	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

564	On NH30 RHS in between Km Post	PATN A	REG ULAR	320	OPEN	CC	35	45	1575	25	10	Biddi ng	30	5
	223 & 225 from Patna to Bhahtiya rpur													
565	Within 2 km from Nandini Dairy on Bodhgay a to Dohbi road on old NH 83 (new NH 22)	GAYA	REG ULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
566	IN LOHANIP UR WITHIN PATNA MUNICIP AL LIMITS ON MAIN OR ARTERIA L ROADS	PATN A	REG ULAR	230	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
567	Within Patna Municip al limits on main or arterial roads	PATN A	REG ULAR	230	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
568	On LHS Within 2km from Chakand railway station towards Gaya while going from Gaya to Chakand on NH83	GAYA	REG ULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

569	WITHIN 2 KM ON EITHER SIDE OF DIDARG ANJ POLICE STN ON ASHOK RAJPATH	PATN A	REG ULAR	235	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
570	CITY CHOWK TO PATNA CITY RLY STN ON NAGLA MAIN ROAD AND KATRA ROAD	PATN A	REG ULAR	230	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
571	WITHIN 5 KM FROM MUFASSI L MORE TOWAR DS FATEHP UR ON SH 70	GAYA	REG ULAR	105	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
572	Islampur on SH 69	NALA NDA	REG ULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
573	WITHIN 3KM FROM MITHAN PURA CHOWK TOWAR DS BELA WITHIN MUZAFF ARPUR MUNICIP AL LIMIT ON EITHER SIDE	MUZA FFARP UR	REG ULAR	200	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5

574	PIPRAHI	MADH UBANI	REG ULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of	15	4
	VILLAGE &	UBANI	ULAR									Lots		
	WITHIN 2 KM TO													
	TOWAR													
	DS													
	LAUKHI IN													
	BLOCK													
	KHUTAU													
	NA ON													
	NH 104 (NEW NH													
	227)													
575	WITHIN	CHAM	REG	160	OPEN	DC	35	45	1575	25	75	Draw	15	5
	5 KM	PARA	ULAR									of		
	FROM MISHRO	N - WEST										Lots		
	LI													
	CHOWK													
	TOWAR DS													
	BETTIAH													
	ON NH													
	28 B <i>,</i> NEW NH													
	727													
576	On all	VAISH	REG	300	SC	CFS	20	20	400	0	0	Draw	0	3
	arterial	ALI	ULAR									of		
	roads Within											Lots		
	municip													
	al Limit													
	of Hazipur													
	Town													
577	IN	MADH	REG	300	OBC	CC	35	45	1575	25	10	Biddi	30	4
	BETWEE	UBANI	ULAR									ng		
	N MILE STONE													
	NO. 24													
	TO 22													
	ON NH 527B ON													
	LHS													
	FROM													
	RAHIKA TOWAR													
	DS													
	KAPILES													
	HWAR													
	STHAN													

578	WITHIN 4 KM FROM MOHAM MADPU R TO SIWAN ROAD ON RHS ON NH 101, NEW NH 331	GOPA LGANJ	REG ULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
579	WITHIN 4 KM FROM KUCHAIK OT TO SASAMU SA ON LHS ON NH 28, NEW NH 27	GOPA LGANJ	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
580	IN BETWEE N ARAR MOD TO BANJARI MOD ON LHS ON NH 28, NEW NH 27	GOPA LGANJ	REG ULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
581	WITHIN 4 KM FROM MATHIA CHOWK TOWAR DS LAURIYA ON LHS NH 28 B , NEW NH 727	CHAM PARA N - WEST	REG ULAR	170	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
582	WITHIN 4 KM FROM THUMM A CHOWK TOWAR DS MUZAFF ARPUR ON NH 22 (OLD	SITAM ARHI	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

	NH 77)													
	,													
583	Within 5 km from Arariya chowk towards Muzaffar pur on LHS on NH 27 (OLD NH 57)	MADH UBANI	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
584	IN BETWEE N THAWE TO GOPALG ANJ ON LHS ON NH 85, NEW NH 531	GOPA LGANJ	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
585	in between vanshi chowk and kadam chowk on SH 97	DARB HANG A	REG ULAR	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
586	Within 2km from Adalpur Chowk towards Sursand on NH 227 (OLD NH-104)	SITAM ARHI	REG ULAR	260	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

587	WITHIN 2KM FROM DILLI MORE TOWAR DS BELA MORE (WITHIN DARBHA NGA NAGAR NIGAM)	DARB HANG A	REG ULAR	200	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
588	Within 2KM from Fakuli Chowk on either side on NH- 22(Old NH 77)	MUZA FFARP UR	REG ULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
589	WITHIN 2 KM FROM THAWE TO MIRGAN J ON RHS ON NH 85, NEW NH 531	GOPA LGANJ	REG ULAR	170	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
590	WIHIN 3 KM OF TEKNIW AS CHOWK ON NH 85(NEW 531)	SARA N	REG ULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
591	Within Municip al Limit of GOPALG ANJ Town On All Arterial Roads	GOPA LGANJ	REG ULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
592	Within 3km from Mansap ur Chowk towards	MADH UBANI	REG ULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	1	1			1				1	1	1	1		
	Narahiya on NH 227 (OLD NH-104)													
593	Within 3 KM from Harpur Belwa Chowk towards Tajpur on LHS on SH-49	VAISH ALI	REG ULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
594	Within 2km of Chaturp ur ,on NH 19(new NH 31) block sonepur on either side	SARA N	REG ULAR	190	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
595	WITHIN 2KM FROM HAKAM ORMA CROSSIN G TOWAR DS AKOPUR ON LHS ON NH 85(NEW NH 531)	SIWA N	REG ULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
596	SARISW A BAZAR TO BETTIAH ROAD within municip al limit of Bettiah city	CHAM PARA N - WEST	REG ULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

597	WITHIN 3 KM FROM BELKUN DA CHOWK TOWAR DS HAJIPUR ON SH 49 ON LHS	VAISH ALI	REG ULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
598	Within 3 km of umdha Chowk on NH - 101(New NH 331) towards malmaliy a on either side	SARA N	REG ULAR	170	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
599	BETWEE N LENIN CHOWK AND MARIPU R ON KALAMB AGH ROAD WITHIN MUNICIP AL LIMIT OF MUZAFF ARPUR	MUZA FFARP UR	REG ULAR	200	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
600	WITHIN 3 KM FROM MISHRO LI CHOWK TOWAR DS LAURIA ON EITHER SIDE ON NH 28 B , NEW NH 727	CHAM PARA N - WEST	REG ULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

601	Within 3 km from Guthni chowk towards Mairwa on SH 47 LHS	SIWA N	REG ULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
602	BETWEE N AGHORI YA BAZAR CHOWK AND LENIN CHOWK ON KALAMB AGH ROAD WITHIN MUZAFF ARPUR MUNICIP AL LIMIT	MUZA FFARP UR	REG ULAR	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
603	Within 2km from Garha chowk towards Jainagar on RHS on NH 227 (Old NH 104)	MADH UBANI	REG ULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
604	Within municip al limit of Lalganj on all roads	VAISH ALI	REG ULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
605	Within 3 km from Bawana Baba mandir towards Guthni on SH 47	SIWA N	REG ULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

606	Within 5km of panchm ukhi hanuma n mandir,a mlori towards mirganj on NH 85(new NH 531)	SIWA N	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
607	WITHIN 2 KM OF PERSOU NI IN ON NH 104 ON EITHER SIDE	SITAM ARHI	REG ULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
608	Within 2km from Narayan pur towards Dighra on RHS within Muzaffar pur municip al limit	MUZA FFARP UR	REG ULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
609	WITHIN 6 KM FROM MANIGA CHHI TOLL TAX TOWAR DS JHANJHA RPUR ON RHS ON NH 27(OLD NH 57)	MADH UBANI	REG ULAR	290	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
610	Within 3 km from Bhairav sthan police station towards jhanjhar pur on	MADH UBANI	REG ULAR	260	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

					1			1	1		I	I	1	
	LHS on													
	NH 27 (
	OLD NH-													
	57)													
611	WITHIN	MADH	REG	260	OBC	CC	35	45	1575	25	10	Biddi	30	4
	2 KMS	UBANI	ULAR									ng		
	FROM													
	LADANIA													
	GANDHI													
	CHOWK													
	TOWAR													
	DS													
	TENUAHI													
	ON LHS													
	ON NH													
	227(OLD													
	NH 104)													
612	WITHIN	MADH	REG	150	SC	CFS	35	45	1575	0	0	Draw	0	3
	3 KM	UBANI	ULAR									of		
	FROM											Lots		
	KAMTAU													
	L													
	TOWAR													
	DS													
	SAHERG													
	HAT													
	BRIDGE													
	VIA													
	GANGAU													
	R ON													
	LHS ON													
	NH 227													
	(OLD NH													
	104)													
613	From	CHAM	REG	145	OPEN CC	DC	20	20	400	25	45	Draw	15	5
	Awadhes	PARA	ULAR		1							of		
	h Chowk	N -										Lots		
	to Janpul	EAST												
	chowk	2,01												
	on LHS													
	towards													
	Janpul,													
	within													
	Motihari													
	Municip													
	ality													
	area.													

614	WITHIN 3 KM FROM PIPRAUN I CUSTOM CHOWK TOWAR DS UMGAO NÂ VIA DURGAP ATTI ON RHS NH 227(OLD NH 104)	MADH UBANI	REG ULAR	220	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
615	WITHIN BELKUN DA & LACHHM IPUR BAKHRI ON SH 49 ON EITHER SIDE	VAISH ALI	REG ULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
616	Between 3 km from Hariharp ur towards mahua on SH-49 on either side	VAISH ALI	REG ULAR	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
617	Within 3km of village Pachma hala in Saahajit pur Panchay at on NH- 101(new NH 331)on either side	SARA N	REG ULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
618	WITHIN 10 KM FROM LAURIA TO BAGHA ROAD	CHAM PARA N - WEST	REG ULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	ON LHS													
	ON LITS													
	28													
	B,NEW													
	NH 727													
					_		_			_				
619	WITHIN	MADH	REG	190	OPEN	DC	35	45	1575	25	75	Draw	15	5
	2 KM	UBANI	ULAR									of		
	FROM											Lots		
	BASAULI													
	CHOWK TOWAR													
	DS													
	RAHIKA													
	ON NH													
	527B(OL													
	D NH													
	105)													
620	WITHIN	SARA	REG	160	OPEN	DC	35	35	1225	25	60	Draw	15	5
	3 KM OF	N	ULAR									of		
	DERNI											Lots		
	BAZAAR													
	ON													
	RIGHT HAND													
	SIDE													
	FROM													
	DIGWAR													
	A TO													
	BHELDI													
	ON SH													
	104													
621	WITHIN	SITAM	REG	200	SC CC 1	CFS	20	20	400	0	0	Draw	0	3
	2 KM	ARHI	ULAR									of		
	FROM											Lots		
	VISHVAN													
	ATHPUR CHOWK													
	TOWAR													
	DS													
	POLICE													
	LINE (
	WITHIN													
	DUMRA													
	NAGAR													
	PANCHA													
622	YAT) IN	CODA	REG	200	OPC CC 1	DC	35	45	1575	25	75	Draw	15	4
022	IN BETWEE	GOPA LGANJ	ULAR	200	OBC CC 1	DC	35	45	15/5	25	/5	Draw of	15	4
	N	LOAIN	OLAN									Lots		
	AMBEDK													
	AR													
	CHOWK													
	GOPALG													
	ANJ TO													
	THAWE													
1	ON LHS													

	0111111	T	I		I			l			ı	ı		
	ON NH													
	85, NEW													
	NH 531													
623	IN	SITAM	REG	200	OPEN	DC	35	45	1575	25	75	Draw	15	5
023	BETWEE	ARHI	ULAR	200	0.2.4	50	33		1373		, ,	of	13	3
	N	7.11.11	OLAN									Lots		
	MILESTO											LOGS		
	NE NO													
	77 TO79													
	ON NH													
	22(OLD													
60.	NH 77)	005:	55.0	460	0.0511.511	D.0	2-		400-	2-	60		4-	
624	FROM	GOPA	REG	100	OPEN PH	DC	35	35	1225	25	60	Draw	15	5
	BARAULI	LGANJ	ULAR									of		
	TOWAR											Lots		
	DS													
	SIWAN													
	BETWEE													
	N													
	MILESTO													
	NE 20													
	TO 25													
	ON RHS													
	ON SH													
	47													
625	WITHIN	SARA	REG	150	SC	CFS	35	35	1225	0	0	Draw	0	3
	3 KMS	N	ULAR									of		
	FROM											Lots		
	POKHRE													
	RA													
	BAZAR													
	ON LEFT													
	SIDE ON													
	TARAIYA													
	-													
	PANAPU													
	R ROAD													
	TOWAR													
	DS													
	PANAPU													
	R													
626	WITHIN	GOPA	REG	150	OBC	DC	20	20	400	25	45	Draw	15	4
320	2 KM	LGANJ	ULAR	130	350	DC	20	20	-+00	23	75	of	1.5	7
	FROM	LGANJ	ULAR											
	YADOPU											Lots		
	IADUPU													
1	DIMODE		I											
	R MODE							i .	1					
	TOWAR													
	TOWAR DS													
	TOWAR DS YADOPU													
	TOWAR DS YADOPU R,													
	TOWAR DS YADOPU													

	AL LIMIT OF GOPALG ANJ													
627	WITHIN 2km FROM PACHRU KHIA BLOCK OFFICE TOWAR DS CHAPRA ON NH 85(NEW NH531) on LHS	SIWA N	REG ULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
628	within 3 km from bariyarp ur chowk towards sonbarsa on LHS on NH 22 (OLD NH 77)	SITAM ARHI	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
629	5KM FROM BRAHMP UR BRIDGE TOWAR DS SIWAN ON NH 85(NEW 531) ON EITHER SIDE	SARA N	REG ULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
630	within 4 km from waterwa ys chowk towards tanuahi chowk on NH 227 (OLD NH 104)	MADH UBANI	REG ULAR	260	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

631	Within 2 km from Ragistry office chowk jainagar towards rahika on NH 527B(OLD NH 105)	MADH UBANI	REG ULAR	260	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
632	Within 5km from Barhara towards Mehat on LHS on NH 527 A	MADH UBANI	REG ULAR	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
633	WITHIN KM STONE No. 69 to 71 ON SH 74 FROM DEWARI A TOWAR DS SAHEBG ANJ ON LHS	MUZA FFARP UR	REG ULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
634	WITHIN 4 KM FROM LAGMA CHOWK TOWAR DS SONBAR SA ON NH 22(OLD NH 77)ON EITHER SIDE	SITAM ARHI	REG ULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
635	Within 3 km from bhutaha chowk towards purnia on RHS on NH 27 (OLD	MADH UBANI	REG ULAR	310	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

	NH 57)													
636	within 3km from chapiya paani tanki(on SH -73) towards masrakh ,village galimap ur,(block isuapur)	SARA N	REG ULAR	110	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
637	within 2 km from markan chowk towards Kaji Inda on LHS on NH 122(Old NH 28)	MUZA FFARP UR	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
638	From Gobarsa hi Chowk towards Chandni Chowk on NH- 22 on either side	MUZA FFARP UR	REG ULAR	275	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
639	within 2 km from samiyad hala chowk towards purnia on RHS on NH 27 (OLD NH 57)	MADH UBANI	REG ULAR	300	OPEN	CC	35	45	1575	25	10	Biddi ng	30	5
640	Within 2kms from patedha toll plaza on either	VAISH ALI	REG ULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	side on													
	NH-													
	22(Old													
	NH 77)													
641	WITHIN	SIWA	REG	180	OPEN	DC	35	45	1575	25	75	Draw	15	5
	2 KMS	N	ULAR									of		
	FROM											Lots		
	DARAUN													
	DA													
	BLOCK													
	OFFICE													
	TOWAR DS													
	SIWAN													
	ON NH													
	85(NEW													
	NH 531)													
	ON LHS													
642	WITHIN	DARB	REG	260	OPEN	CC	35	45	1575	25	10	Biddi	30	5
	6 KM	HANG	ULAR									ng		
	FROM	Α												
	SHIV DHARA													
	BAZAR													
	SAMITI													
	TOWAR													
	DS													
	MUZAFF													
	ARPUR													
	ON NH 27 (OLD													
	NH 57)													
643	WITHIN	MADH	REG	290	SC	CFS	35	45	1575	0	0	Draw	0	3
	2KM	UBANI	ULAR									of		
	FROM											Lots		
	NATWA													
	CHOWK													
	TOWAR													
	DS NARAHI													
	A ON NH													
	227													
	(OLD NH													
	104)ON													
	EITHER													
C 4 4	SIDE	N 41 17 A	DEC	450	OBC	D.C.	25	45	1575	25	75	During	15	
644	within 3km	MUZA FFARP	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of	15	4
	from	UR	OLAN									Lots		
	markan	0												
	chowk													
	towards													
	begusara													
	i on NH													
	122(Old													

	MIT 30/							1						
	NH 28) on RHS													
	כחא ווט													
645	Within	DARB	REG	150	OPEN	DC	35	45	1575	25	75	Draw	15	5
	6km	HANG	ULAR									of		
	from	Α										Lots		
	Raje toll													
	plaza													
	towards													
	Muzaffar													
	pur on													
	NH 27 (
	OLD NH-													
646	57) Within 5	SARA	REG	160	OPEN	DC	35	45	1575	25	75	Draw	15	5
040	km from	N	ULAR	100	OFLIN	DC	33	43	13/3	23	/3	of	13	5
	toll plaza	IN	OLAN									Lots		
	on either											2013		
	side On													
	NH-													
	19(NEW													
	31)													
647	Within 4	DARB	REG	170	SC	CFS	35	35	1225	0	0	Draw	0	3
	KM from	HANG	ULAR									of		
	Kothram	Α										Lots		
	Chowk													
	towards													
	Beraul on SH 17													
648	Within	VAISH	REG	150	OBC	DC	35	45	1575	25	75	Draw	15	4
048	3KM	ALI	ULAR	130	OBC	DC	33	45	1373	23	/3	of	15	7
	from	,	02/111									Lots		
	Chiknaut													
	a Chowk													
	towards													
	Tajpur													
	on NH													
	122(Old													
	NH 28)													
640	on RHS	NAL 17 A	DEC	250	ODEN	66	25	45	1575	25	10	D:44:	20	
649	Within 2 KM from	MUZA FFARP	REG ULAR	250	OPEN	CC	35	45	1575	25	10	Biddi	30	5
	Dighra	UR	ULAN									ng		
	Chowk	UK												
	towards													
	Kaji Inda													
	on NH													
	122(Old													
	NH 28)													
	on RHS													

650	WITHIN 2KM FROM GHORM OHANA CHOWK TOWAR DS SARBSIM A ON RHS ON NH 227 (OLD NH- 104)	MADH UBANI	REG ULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
651	WITHIN 2 KMS FROM LOUKAH A THANA CHOWK TOWAR DS LOWKAH I ON LHS ON NH 227 (OLD NH 104)	MADH UBANI	REG ULAR	260	OBC	СС	35	45	1575	25	10	Biddi ng	30	4
652	WITHIN 4 KM FROM MOHAM MADPU R TO SIWAN ROAD ON LHS ON NH 101, NEW NH 331	GOPA LGANJ	REG ULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
653	On new Garkha by-pass road NH- 102(new 722) on either side	SARA N	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
654	FROM DAUDPU R THANA TOWAR DS EKMA WITHIN 2.5 KM ON NH	SARA N	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

	85 ON RHS (New NH 531)													
655	Within 3 KM from Bakhra Chowk towards Chhapra on NH- 722(Old NH 102) on either side	MUZA FFARP UR	REG ULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
656	Within 3 KM from Toryahi towards LOUKAH A on RHS on NH 227 (OLD NH 104)	MADH UBANI	REG ULAR	190	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
657	WITHIN 3kM OF PARMAN ANDPUR TOWAR DS HAJIPUR PATNA DIGHA BRIDGE ON NEW 4 LANE ROAD ON NH 19(New NH31)	SARA N	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
658	Within Siwan Municip ality limit	SIWA N	REG ULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

659	Between Sonpur Railway Station and Gandak bridge within sonepur nagar panchay at	SARA N	REG ULAR	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
660	within 3km of Bansohi Bunayad i Vidyalay a towards Malmali ya on LHS on SH 73	SIWA N	REG ULAR	170	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
661	Within 3 Km from Bhagwa npur Chowk on NH- 722 towards Saraiya(Old NH 102) on either side	MUZA FFARP UR	REG ULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
662	WITHIN 3KM FROM BHAPTA PRIMAR Y MIDDLE SCHOOL TOWAR DS MAJHI ON NH- 19(NEW NH-31) ON EITHER SIDE	SIWA N	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

663	Within 3km from mehraun a bridge towards Guthani on SH- 89,LHS	SIWA N	REG ULAR	155	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
664	between Bisunpur a and Doriganj on NH 19(new nh 31)	SARA N	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
665	WITHIN 3KM FROM SARAIYA ON NH- 722(OLD NH 102) TOWAR DS MUZAFF ARPUR ON EITHER SIDE	MUZA FFARP UR	REG ULAR	200	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
666	Within 10 kms from Jawahar Navoday a Vidhyala ya towards Motihari on NH- 28A (New NH 527D)	CHAM PARA N - EAST	REG ULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
667	Within 5 KM from Mabbi chowk towards Kamtaul on SH 75 on either side	DARB HANG A	REG ULAR	220	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
668	Within 3km from ITBP camp	SARA N	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

	Ī	1			1				1					
	towards Chapra on RHS of NH- 101													
669	From Godna Mathiya to revelgan j block office on NH 19(new NH- 31)on either side	SARA N	REG ULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
670	WITHIN 2KM FROM GANDHI CHOWK TOWAR DS STADIU M (WITHIN MADHU BANI NAGAR PARISHA D)	MADH UBANI	REG ULAR	210	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
671	within 2 km from jagannat hpur chowk towards baheri on SH 88	DARB HANG A	REG ULAR	140	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
672	From Chautani Chowk to Janpul Chowk, Within Motihari municip ality limit	CHAM PARA N - EAST	REG ULAR	130	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5

	WITHIN	CHAM	REG	155	OBC CC 1	DC	35	45	1575	25	75	Draw	15	4
]]	10 KM OF	PARA	ULAR									of		
	CHHAPU	N - EAST										Lots		
	WA	2,131												
С	CHOWK													
T/	ΓOWAR													
	DS													
l R	RAXAUL ON													
	EITHER													
	SIDE OF													
	NH 28													
(A	A)(New													
	NH													
	527D)	DARR	DEC	220	66.664	CEC	25	25	4225	0	-	D	•	2
	within 3 m from	DARB HANG	REG ULAR	230	SC CC 1	CFS	35	35	1225	0	0	Draw of	0	3
	dekuli	A	ULAK									Lots		
	chowk	,,										2010		
to	owards													
	donar													
	chowk													
	n SH 56 Vithin 2	DARB	REG	200	OPEN	DC	35	35	1225	25	60	Drow	15	5
	m from	HANG	ULAR	200	OPEN	DC	33	35	1225	25	60	Draw of	15	5
	pajrang	A	OLAN									Lots		
	chowk													
	owards													
	saharsa													
	n SH 17	CADA	DEC	150	ODEN	DC	25	45	1575	25	75	Descri	15	-
	Within 4km of	SARA N	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of	15	5
	Chainwa	14	OLAN									Lots		
	on NH-													
	85(new													
	NH 531)													
	n either													
	side MADHU	CHAM	REG	150	OBC	DC	35	45	1575	25	75	Draw	15	4
	BAN ON	PARA	ULAR	130	UBC	DC	33	40	13/3	23	/3	of	13	4
	NH 104	N -	"'									Lots		
(N	New NH	EAST												
	227) on													
	HS from													
	hakia to ⁄Iadhub													
	an													
678 W	WITHIN	SARA	REG	150	SC	CFS	35	45	1575	0	0	Draw	0	3
3	3KM OF	N	ULAR									of		
В	BHELDI											Lots		
	ON													
	EITHER													
	SIDE OF NH													
	.02(new													
10	.02(110 00 1													

679	WITHIN 2 KM FROM CHHAPR A BAZAR SAMITI ON ALL ARTERIA L ROADS	SARA N	REG ULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
680	WITHIN 6 KMS OF RAMGAR HWA POLICE STATION TOWAR DS RAXAUL ON NH- 28A (NEW NH 527D) ON EITHER SIDE	CHAM PARA N - EAST	REG ULAR	155	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
681	Within Municip al Limit of Bettiah On All Arterial Roads	CHAM PARA N - WEST	REG ULAR	160	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
682	WITHIN 3 KM FROM LANGDA CHOWK TOWAR DS BEHAT WITHIN JHANJHA RPUR NAGAR PANCHA YAT	MADH UBANI	REG ULAR	160	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

683	BETWEE N IMADPA TTI OJHA TOLA CHAKIA AND HARPUR NAG ON NH28 ON LHS TOWAR DS MUZAFF ARPUR	CHAM PARA N - EAST	REG ULAR	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
684	IN BETWEE N SHANKA R CHOWK AND MEHSAU L CHOWK WITHIN SITAMA RHI NAGAR PARISAD	SITAM ARHI	REG ULAR	210	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
685	WITHIN 2KM FROM KUNDW A - SURWAL IYA MORE TOWAR DS BARHARI YA ON LHS ON SH-47	SIWA N	REG ULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
686	On LHS side of NH-28 FROM MEHSI PS TOWAR DS MUZAFF URPUR ON EAST CHAMPA RAN (New NH	CHAM PARA N - EAST	REG ULAR	155	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

	27)													
687	BETWEE N MAINAK ULI MUSHAR TOLA TO MEHNA CHOWK ON BETTIAH CHANPA TIYA ROAD ON EITHER SIDE	CHAM PARA N - WEST	REG ULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
688	Within 3km from Benibad on either side on NH- 27(Old NH 57)	MUZA FFARP UR	REG ULAR	230	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
689	WITHIN 2 KM FROM SAPHAP UR MORE TOWAR DS BARAULI ON RHS, ON SH 47	GOPA LGANJ	REG ULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
690	WITHIN 3 KM FROM I C POST TOWAR DS SUGAULI ON NH 28A (NEW NH	CHAM PARA N - EAST	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

	527D)													
	ON EITHER SIDE													
691	WITHIN 2KM FROM BETTIAH MUFASSI L THANA TOWAR DS CHHAP WA ON RHS ON NH2B NEW NH 727	CHAM PARA N - WEST	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
692	Within 2 km from Majhauli chowk towards darbhan ga on NH 27(Old NH 57)	MUZA FFARP UR	REG ULAR	300	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
693	Between Chhapra Chowk and Hariram pur Chowk on LHS on NH- 77	MUZA FFARP UR	REG ULAR	250	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5
694	Between Anjanpe er Chowk and Ramashi sh Chowk on NH- 31	VAISH ALI	REG ULAR	350	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

695	WITHIN 3KMS FROM CHAPWA CHOWK TOWAR DS BETIAH ON NH 28 B (NEW NH 727) ON EITHER SIDE	CHAM PARA N - EAST	REG ULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
696	WITHIN 4 KM FROM BARHARI YA THANA TOWAR DS BISHAM BHARAP UR ON RHS OF SH 47	GOPA LGANJ	REG ULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
697	Within 5km from Mirganj towards Siwan on RHS on NH - 85, New NH - 531	GOPA LGANJ	REG ULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
698	WITHIN 4 KM FROM DILLI MORE TOWAR DS PURNIA ON RHS ON NH 27 (OLD NH 57)	DARB HANG A	REG ULAR	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
699	on RHS From Chapua Chouwk to Chattau ni Chowk	CHAM PARA N - EAST	REG ULAR	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4

	on NH 28A (New NH 527D)													
700	From Brahmp ur Bridge to Daroga Rai Chowk (Within CHAPRA Municip al Limit)	SARA N	REG ULAR	160	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
701	On RHS Within 15KMs from piprakot hi PS towards Kothwa on NH 28 (New NH 27)	CHAM PARA N - EAST	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
702	On LHS Within 15KMs from piprakot hi PS towards Kothwa on NH 28 (New NH 27)	CHAM PARA N - EAST	REG ULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
703	Within Raxaul town limit on NH 28 A (New NH 527D)	CHAM PARA N - EAST	REG ULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

704	WITHIN 2 KM FROM VISHVAN ATHPUR CHOWK TOWAR DS PARAURI BRIDGE WITHIN DUMRA NAGAR PANCHA YAT	SITAM ARHI	REG ULAR	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
705	FROM LALA CHAPRA CHOWK TOWAR DS SATTAR GHAT PUL ON SH 104 ON EITHER SIDE	CHAM PARA N - EAST	REG ULAR	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
706	WITHIN 2 KM FROM LEHARIA SARAI TOWER CHOWK ON ALL ARTERIA L ROADS WITIN DARBHA NGA NAGAR NIGAM	DARB HANG A	REG ULAR	220	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
707	WITHIN 4KM OF PANAPU R ON SH 104 EITHER SIDE WITHIN BLOCK PANAPU R	SARA N	REG ULAR	115	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

708	Within 3km from Zero mile towards SKMCH on RHS within Muzaffar pur municip al limit	MUZA FFARP UR	REG ULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
709	Within 3km from Malmali a Chowk towards Baniapur on NH- 101(NE W NH331) on both sides	SIWA N	REG ULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
710	Between Methwal iya(inter section NH101/ NH19)an d Umdha(i ntersecti on SH90/N H19)on new propose d NH-19.	SARA N	REG ULAR	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
711	Within 2 km of sonepur nagar panchay at office , sonepur	SARA N	REG ULAR	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
712	Within 4 km from supaul Bus stand towards pokhram on SH 56	DARB HANG A	REG ULAR	200	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5

713	Within 3 km from Durga mandir,c hhatauni towards jainagar on NH 104 block: Basopatt i	MADH UBANI	REG ULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
714	Within 3km from Sutihar High Shool towards dighwar a On LHS on SH 104	SARA N	REG ULAR	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
715	Within 3 km from antaur chowk towards alinagar on SH 88	DARB HANG A	REG ULAR	174	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
716	WITHIN 2 KM FROM MAJHIYA MA TIRAHA KATWAR A GHAT TOWAR DS BENIPUR ON SH 56	DARB HANG A	REG ULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
717	WITHIN 2KM FROM PIRGANJ CHOWK TOWAR DS HAJIPUR, BLOCK DIGHWA RA ON NEW NH- 19(NEW 31) ON	SARA N	REG ULAR	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	CITI I CO													
	EITHER SIDE													
	SIDE													
718	Within 4	SARA	REG	160	SC	CFS	35	45	1575	0	0	Draw	0	3
/10	km from	N	ULAR	100	30	CF3	33	43	13/3	U	U	of	U	3
	Raipura	IN	OLAN									Lots		
	market											2013		
	Hanuma													
	n mandir													
	towards													
	Sonho													
	on LHS													
	on NH -													
	102(722													
740	new)	6454	DEC	400	0.0551	D C	25	25	4225	25	60	_	45	
719	From Amnour	SARA	REG ULAR	180	OPEN	DC	35	35	1225	25	60	Draw of	15	5
	to Sonho	N	ULAK									Lots		
	on SH-73											LOGS		
	between													
	mileston													
	e 78 and													
	82													
720	Within 2	MADH	REG	190	OPEN	DC	35	35	1225	25	60	Draw	15	5
	km from	UBANI	ULAR									of		
	banswari											Lots		
	ya													
	chowk													
	towards													
	neta ji chowk													
	on SH 75													
721	From	CHAM	REG	145	OPEN	DC	20	20	400	25	45	Draw	15	5
	Balua	PARA	ULAR	-						-		of		
	Chowk	N -										Lots		
	to NH	EAST												
	28A via													
	hawai													
	adda													
	chowk,													
	Kachahri													
	Chowk; Within													
	Motihari													
	Muncipa													
	lity limit													
oxdot	ncy minc				L	L		l	L				L	

722	Within 5 KM from Paharpu r Middle School from Paharpu r towards Bajhia on RHS on SH 54	CHAM PARA N - EAST	REG ULAR	115	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
723	Between Inai and Godna Mathiya on NH 19(NEW NH 31)on either side	SARA N	REG ULAR	190	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
724	Within 3 KM from Koili Kalyani chowk towards Nanpur on SH 87	SITAM ARHI	REG ULAR	185	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
725	Within 2 km from phulpara s lohia chowk towards Darbhan ga on LHS on NH 57	MADH UBANI	REG ULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
726	FROM CHAWTA RWA CHOWK TOWAR DS BAGAHA WITHIN 3 KMS ON RHS ON OLD NH 28B AND NEW NH 727	CHAM PARA N - WEST	REG ULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

727	3km from Shayam chowk towads jalalpur on NH- 101(new 331)on LHS	SARA N	REG ULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
728	WITHIN 4 KM OF MEHIAN CHOWK(CROSSIN G OF NH- 102,NE W NH19)T OWARD S BISENTO LA,ON NEW NH19 ON EITHER SIDE	SARA N	REG ULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
729	On RHS of NH- 28(new NH 27) FROM MEHSI Police Station TO MUZAFF URPUR on East Champar an	CHAM PARA N - EAST	REG ULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
730	within 3km from Chancha ura bazar towards Khaira on SH-90 ,LHS	SARA N	REG ULAR	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

731	Panapur (Betwee n Mile Stone No 500 and 504 on NH- 27 (Old NH 28)) on either side	MUZA FFARP UR	REG ULAR	202	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
732	Within 2 KM from Pokhrair a chowk towards saraiya on NH- 102(NE W NH 722) on either side	MUZA FFARP UR	REG ULAR	250	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
733	Within 3 KM from Kesaria thana chowk towards Chakia on LHS SH-74.	CHAM PARA N - EAST	REG ULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
734	within 8 km from phulpara s chowk towards purnia on either side on NH 27 (old NH 57)	MADH UBANI	REG ULAR	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
735	Within 2KM from Kalyani chowk towards chaklal shahi chowk on NH 322 on RHS (old NH 103)	VAISH ALI	REG ULAR	200	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

736	Within 3 Km from Gobarsa hi chowk on NH- 22 towards Kachipak ki on either side	MUZA FFARP UR	REG ULAR	225	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
737	BETWEE N NAYAGA ON AND SEOHAR ON MAHUB AN SEOHAR ROAD NH104 (NEW NH 227) ON EITHER SIDE	CHAM PARA N - EAST	REG ULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
738	Within 2 km from hajipur chowk towards Rahika on RHS block kevti on NH 105	MADH UBANI	REG ULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
739	Between Mithanp ura chowk & Pani tanki Chowk Within Muzaffar pur Municip al Limit	MUZA FFARP UR	REG ULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

740	WITHIN 15 KM FROM CHATAU NI CHOWK TOWAR DS CHAKIA ON NH- 28A (NEW NH 527D) ON EITHER SIDE	CHAM PARA N - EAST	REG ULAR	185	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
741	MANOH AR CHAPRA WITHIN 6 KMS FROM KESARIY A P.S TOWAR DS NAVIN PRIMAR Y SCHOOL ON SH 74 ON EITHER SIDE	CHAM PARA N - EAST	REG ULAR	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
742	Between Hathi Chowk & Kalyani Chowk within Muzaffar pur municip al limit	MUZA FFARP UR	REG ULAR	325	OPEN	СС	20	20	400	25	10	Biddi ng	30	5
743	WITHIN 3 KM FROM SADATP UR CHOWK ON NH- 27(OLD NH 57) ON EITHER SIDE	MUZA FFARP UR	REG ULAR	260	OPEN	СС	35	45	1575	25	10	Biddi ng	30	5

744	within 4km of masrakh towards malmaliy a on SH	SARA N	REG ULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
745	73 on either side on LHS From Chapua Chouwk	CHAM PARA N - EAST	REG ULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	to Chattau ni Chowk on NH 28A (New NH 527D)													
746	BETWEE N THANA MORE AND MADHU BANI RAILWA Y STATION VIA HEAD POST OFFICE IN MADHU BANI NAGAR PARISAD	MADH UBANI	REG ULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
747	WITHIN 3KM FROM KARGIL CHOWK TOWAR DS PUNAUR A WITHIN SITAMA RHI NAGAR PARISHA D	SITAM ARHI	REG ULAR	210	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum **19 years 11 Months** or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website www.bharatpetroleum.in / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as Applicable (detailed below), should be submitted on-line by 24/12/2018.

Туре	Type of	Category	Application	Type of	Type of	Category	Application
of RO	Site		fee in Rs.	RO	Site		fee in Rs.
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	CC	OBC	5000	ROs	CC	OBC	4000
	CC	OPEN	10000		CC	OPEN	8000
	DC	OBC	5000		DC	OBC	4000
	DC	OPEN	10000		DC	OPEN	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of **15** years and renewable every **05** years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper

would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Districts covered	Address	Contact No.
Patna	ARWAL, AURANGABAD, BHOJPUR,	Territory Manager (Retail), Patna,	
	BUXAR, GAYA, JEHANABAD, KAIMUR,	Patna TOP, Village Pakri,	
	NALANDA, NAWADA, PATNA, ROHTAS	Via Anisabad,	
		Patna - 800002	7070892820
Muzaffarpur	CHAMPARAN-EAST, CHAMPARAN-	Territory Manager (Retail),	
	WEST, DARBHANGA, GOPALGANJ,	Muzaffarpur, Muzaffarpur POL	
	MADHUBANI, MUZZAFARPUR, SARAN,	Depot, Village - Sherpur, NH 28,	
	SHEOHAR, SITAMARHI, SIWAN,	Near Narayanpur, Anant railway	9264428111,
	VAISHALI	Station, PO: MIC Bela,	9264428110,
		Dist : Muzaffarpur - 842005	9264428112
Barauni	ARARIA, BANKA, BEGUSARAI ,		
	BHAGALPUR, JAMUI, KATIHAR,	Territory Manager (Retail), Barauni,	
	KHAGARIA, KISHENGANJ, LAKHISARAI,	Barauni TOP,	
	MADHEPURA, MUNGER, PURNIA,	Paprour,	
	SAHARSA, SAMASTIPUR, SHEIKHPURA,	Dist - Begusarai,	
	SUPAUL	Barauni - 851114	06243-244722